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ABSTRACT 
 

    Studies on yield, quality and cost of seed and crop production of SelectedhPSU 
yardlong bean under an organic farming system were conducted by using water 
convolvulus bio-extract solution at 1:1,000, gypsum at 50 kg./rai and bio-extract solution 
+ gypsum mixture. Seed yield and seed quality from all treatments were compared with 
the conventional method (chemical application). The experiments were done at the 
experimental plots and seed laboratory of the Department of Plant Science, Faculty of 
Natural Resources, Prince of Songkla University, Hat Yai campus, Hat Yai, Songkhla 
from December, 2004 to August, 2005. The results showed that the organic seed 
production of yardlong bean by applying bio-extract solution watering at every 4 days 
gave the highest seed yield of 146 kg./rai which was not significantly different from the 
conventional method which gave a seed yield of 160 kg./rai. All seed produced had 
high quality with standard germination of 95.50-98.00% and high vigor in terms of speed 
of germination index, seedling dry weight, accelerated aging and soil emergence.  

 The organic production of yardlong bean by application of a bio-extract 
solution watering at every 7 days had the highest fresh pod yield of 2,170 kg./rai and 
was not significantly different from the conventional method which gave a fresh pod 
yield of 2,079 kg./rai. Seed and crop of yardlong bean production under the organic 
farming system required higher costs than the conventional method due to the time of 
farm management. 
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1%(
)�
<�'&	K
	!$010
	5�
�� ��*�!�-.! %(
+K,���!���
��	<L&1�=�'
��)<&����0)�-)5< (>��* �!� 4$"��$$/, 2535; 0��* 4$")6", 2546) �
�+�,'
��)<&
.1	D<=)(
�N3�N3�$��"%-4$")�
<�$01/�	�=0+K,���1��*K
!=
3O !
<<
<
�<
	 ��=� ����0��!�
	
!=0!�����!��� (���6��<$ 4$")6", 2540; '5�&$
 4$")6", 2546) %(
$
	'<15$>03�"--����� 
'=3�$��"%-!=0'��34�1$,0< �=
�K=�3.P=0
K
� ��N3�#,-��./) %�E3�
�!�),
3+�1�� ����QR0�+�4K$=3�E(
 
!�),
3+���� �=0+K,���10��!�
	!=0'��3<&�&��!4$"'5>/
�>03<�5�	7 (���6��<$ 4$")6", 2540) 
.1	�L�
"�
�+�,'
��)<&�S03����(
 �14<$3 <&�$+K,�������	
�<&'
����!�),
3'#3�N3 65.82 ��0�7�P?�!7 
>03 (
���!��0	=
3%&����)�
"K7 .1	+� (
����&E<&'
��)<&!�),
3����)=
<
!��
�)�
<�$01/�	 
15.58 ��0�7�P?�!7 ()6"���<
J��
��
����!�4$"'K��67'/
�#,4%��
�T�, 2546) �0� 
��&E
	�3�-�=
<&)��'&	�&��! 
��
�D1,��-��� 
�'
��)<&%�E3%
3!�34$"%
30,0<�@$"��"<
6 4,000-
19,000 �
	 (���1
, 2545) 4$"	�3<&�$%(
+K,4<$3��!�#���<&)�
<!,
�%
�!=0'
��)<& %(
+K,4<$3��!�#
�"-
1<
�>NE� 4$"'=3�$+K, (
���4<$3��!�#J��<�
!�$1$3 (����J7, 2548)  
   �
��$�!�������	
�.1	$1�
�+�,'
��)<&K��0�"--���!�0��%�&	7  N3<&)�
<'(
)�*
4$"����4��%
3%&�<&)�
<!,03�
�����<>NE� ����03 
��"--���!�0��%�&	7�����"--�
��$�!%&�K$&��$&�	3
�
�+�,�5V	�)<&'�3�)�
"K7 '
��)<&�S03����(
 �1��!�#��� 4$"'
�)�-)5<�
�� ��*�!�-.!'�3�)�
"K7 
(Lampkin and Padel, 1994; Nadia and Caroline, 2002)  
�>,0�(
K�1!
<<
!��
��
��$�!
���0��%�&	7 �<$?1���J57%&�+�,!,03<
 
��"--���!�0��%�&	7%&��=
��
���-�03<
!��
� .1	�L�
"
>,0�(
K�1>03'/
!$
1�=�<	5.��D1,�(
K�1+K,�#,�$�!���1,�	�"--���!�0��%�&	7!,03+�,�<$?1���J57
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%&��$�!1,�	�"--���!�0��%�&	7 !�E34!=���%&� 1 <��
)< 2547 ����!,�D� (Boelt et al., 2002; 
Lammerts van Bueren  et al., 2003) ��=��1&	���-��"�%�D%	 %&��
��$�!���1,�	�"--���!�0��%�&	7
!,03+�,�<$?1���J57%&��$�! 
��"--���!�0��%�&	7 (��<���
�
����!�, 2543)  
  4!=�
��$�!�<$?1���J57/
	+!,�"--���!�0��%�&	7 <&��  �	�
��$�!K$
	��  �	%&�
<&�$%(
+K,�$�$�!!�(
 (Lammerts van Bueren et al., 2003; Langer and Rohde, 2005) 1�3��E�
)���$�0����J57%&��K<
"'<+�4!=$"%,03%&� 4$")���������J57�'<��k1 (Lammerts van Bueren et al., 
2003) %&�+K,�$�$�!'#34$"<&)56/
�1&'<�(
�'<0 (Kaute, 2003) %&�'
<
��� ��*�!�-.!D1,1&+�1��%&�
<&)�
<051<'<-#�67!�(
 (Steve et al., 1999) !,
�%
�.�)4$"4<$3 4>=3>����-������D1,1& (Kaute, 
2003) .1	�$�0�n1#�$#�+K,�K<
"'< D<=)���$#�PE(
��E�%&��1�< (Langer and Rohde, 2005) ��,�
�
��$#����K<5���&	� ��=� ���!�"�#$���� �
�+�,�5V	K<�� �5V	)0� �5V	���'1 ���P
��K$�0%�E3 
�
��'15!=
3 O (Lampkin and Padel, 1994) �
�+�,'
�0��%�&	7 4$"'
�0���%�&	7%&�D1, 
�J��<�
!�
%14%�J
!50
K
�+K,��-��� (��<���
�
����!�, 2543; Lane and Steve, 2000)  
  �
�+�,�E(
K<���&�/
�4$"	��P��<����%
3�$�0�K�N�3+��"--���!�0��%�&	7 ����03 
�
�E(
K<���&�/
�����'
�%&�D1, 
�J��<�
!� <&)56'<-�!�+�,%14%��5V	�)<& +�,����'
���=3�
�� ��*�!�-.!
>03��� �S03����(
 �1.�)4$"4<$3 %&��$�!D1,3=
	 D<='$�-P�-P,0� <&)�
<�$01/�	 !=0�#,+�, �#,-��./) 
4$"'��34�1$,0< ('�
-���� �	��%	
�
'!�74$"�%).�.$	&4K=3��"�%�D%	, 2547) %&�'
<
���(
 
<
+�,�$�!���'1����0�
�-��./)K$
	���1 ��=� �"K$�(
�$& -�0).)$& ����
1K0< ����
1>
� 
����
1K�� 4)�0% ���� <"�>�0 (�<�<���!�J��<�
!�4K=3��"�%�D%	, 2544) 4!3��
 )"�,
 
�������	
� ( 
�5$���67 4$")6", 2546) 4$"+�,�$�!�<$?1���J57�������	
� (�=�< �!�, 2546) '=��	��P��<
����4�=J��<�
!�%&�����4K$=3>034)$�P&	< 4$"P�$�o0�7 (Lane and Steve, 2000) <&)56'<-�!�
�=�	+K,���!�"�#$����'�,
3�<����<>NE� ('<���1�p, 2541) �=�	���-��53.)�3'�,
3%
3�
	/
�>031�� 
4$"����<�$�$�!�<$?1���J57����
1K�� (Ara et al., 1999) �<$?1>,
�'
$& �<$?1���!�"�$#���� 
(Hamza and Anderson, 2003) 4$"�<$?1����$�'3 ('5��**
 4$")6", 2545) 1�3��E� �
��N��

�
�+�,�E(
K<���&�/
�4$"	��P��<�$�!�<$?1���J574$"���'1�������	
�/
	+!,�"--���!�0��%�&	7  N3
�=�	+K,�
��$�!�������	
�+��"--���!�0��%�&	7<&)�
<'<-#�67 $1�$�'&	4$"0��!�
	 
��
�
+�,'
��)<&  
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�	


������	
 
 
1.  �������������������� �!	� 

 
   �������	
� (yardlong bean K��0 asparagus bean) <&�����(
���1+��>!�,0�>03
%�&��0��&	 D1,4�= ��"�%�0���1&	 K��0��"�%� &� (Knott and Deanon, 1969) ��������'<!���03 
<&�
�� ��*�!�-.!4--�$�E0	 (indeterminate) !,03�
�'��3)E(
 5�K��0>NE�),
3 (>��* �!� 4$"��$$/, 
2540) .1	���),
3+�%��%���>?<�
w��
.1	>NE�D1,'#3�N3 4 �<!� �"--�
������
�4�,� �
��0	<&
�<����%&�0
��	>034-)%&��&	 Rhizobium sp. %&�'
<
��!�N3D�.!�� � 
�0
�
�D1, +-����+-
��"�0-<& 3 +-	=0	 (trifoliate compound leaf) 	
���"<
6 7-12 �P�!��<!� (Tindall, 1983) 
����<00�10��<��00
	5 6-7 '��1
K7K$�3�$#� 10�00� 
�$(
!,��$
3 4$"4>�31,
�$=
3�=0� 
(Knott and Deanon, 1969) 10�����10�'<-#�67��� <&�=010�4-- raceme ���1!
<<5<+-K��0
P0�+- �=010�<& 1-6 10�	=0	!=0�=0 10�<&>�
1 1-3 �P�!��<!� �$&-�$&E	3<&'&�>&	� $���6"����
���	$,0<�0-�$&-10� '=���$
	4	� 
�������� 5 4L� 4L��$
3<&)�
<	
�<
�%&�'51 <&�$&-
��"1�- 2 �$&- �$&-10�<& 5 �$&- 4-=3�����$&-+K*= 1 �$&- K5,<0	#=1,
��0���&	��=
 standard  
2 �$&-4	������@� 2 1,
���&	��=
 wing 4$" 2 �$&-+�'51����0<!�1���K5,<�0-��'�!���<&	4$"��'�!���#, 
��&	��=
 keel ��'�!���#,<&0�-$"003��'� 10 0�� ��'�!���<&	��"�0-1,�	��3D>=�#��=
3	
�<&'&�>&	� 
<&�,
��#��'�!���<&	4$"	01��'�!���<&	!0��$
	<&>�o#'&>
�!�10	#= �
��'<��'����1�=0�10�-
� 
.1	��'�!���<&	��,0<��-�
��'<�=0�10�-
� 2 ��� 10�-
�+�!0���,
4$"K5-+�!0�-=
	
/
	+�����1&	���� $"003��'�'
<
���'<D1,+����%&�10�-
� ( 
�5$���67 4$"0� L�
, 2536) 
K$�3 
���E�<&�
���{�
>03��� 4$"�$&-10� "�=�3D� ���<&)�
<	
���"<
6 30-60 �P�!��<!� 
(Tindall, 1983) ���'&�>&	�0=0��N3�>,< �<��04�=��$&�	�����'&�E(
!
$ (>��* �!� 4$"��$$/, 2537>) 
+����<&�<$?1 10-30 �<$?1 (Tindall, 1983) �<$?1�#�D! 	
� 0.8-12 <�$$��<!� (Yamaguchi, 1983) 
'&�E(
!
$  >
� 1(
 4$"'&'$�- �E(
!
$->
� 1(
->
� 4$"413->
� >NE���-���J57 ( 
�5$���67 4$"
0� L�
, 2536)    
 
2. �#	$%�&���'����('	��'��	(
���	
)�*
�'�+&$��,-. 
 
   �������	
�����������%&�!,03�
�0
�
�0-05=�+��
�� ��*�!�-.! � ��*�!�-.!D1,1&
�<��0<&056K/#<��"K�=
3 20-30 03�
�P$�P&	' <&056K/#<�'#3'51'(
K��-�
�� ��*�!�-.! 35 03�
�P$�P&	' 
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(Tindall, 1983) 056K/#<�!�(
<&�$!=0�
�� ��*�!�-.! (Yamaguchi, 1983) 4$"�,
056K/#<�'#3
+��=�3�
�00�10� !�1��� 4$"�
���{�
>03�<$?1���J57 '=3�$+K,���1�
��=�3K$=�>0310�4$"
���0=0� %(
+K,�
�!�1���!�(
 <&�$��"%-!=0�$�$�!4$")56/
�>03�<$?1���J57 (>��* �!�, 2535) 
�������	
�!,03�
�4'3411 �1 (>��* �!� 4$"��$$/, <.�.�.) �=�34'3D<=<&�$!=0�
�00�10� 
(>��* �!�, 2535; Knott and Deanon, 1969; Yamaguchi, 1983) '
<
��00�10�D1,!$01%�E3�@ 
(>��* �!�, 2544) 4$"!,03�
�)�
<��E�'�<��%J7'#3 (>��* �!�, 2544; Knott and Deanon, 1969) 
+�>6"�$#��,
<&��!�K���0	=
3!=0����034$"4'3411�,0	 "����05�'��)!=0�
�30�>03�<$?1���J57 
%(
+K,�<$?1���J57��=
 30�D1,�,0	 +��=�3�
�� ��*�!�-.!%
3$(
!,�%(
+K,���1�
���Q0+- 00�10��,0	 
(>��* �!� 4$"��$$/, <.�.�.) -
3���J57D<=00�10� (Tindall, 1983) 10�<��00�%&�	014$"�=�3
%(
+K,�$�$�!!�(
 (>��* �!� 4$"��$$/, <.�.�.) +��=�3�
���{�
4$"�
�'5�4�=>03�<$?1���J57 "
<&�$%(
+K,�
�'5�4�=>03�<$?1���J57D<=1& �<$?1���J5730�-�!,�4<= 4$"�<$?1���J57<&)�
<30�4$"
)�
<4>?34�3!�(
 4$"�,
>
1�E(
+��=�300�10�4$"!�1���%(
+K,10��=�34$"!�1����,0	 <&�$��"%-
!=0�$�$�!4$")56/
�>03�<$?1���J57 (>��* �!�, 2535) �0� 
��&E'/
���E�%&��$#� )������%&��
- 
(>��* �!� 4$"��$$/, <.�.�.) �������	
�>NE�D1,!�E34!=1���=����%�
	 ��N31���K�&	� (Tindall, 1983) 
1��<&0��%�&	��!�5'#3 (>��* �!� 4$"��$$/, <.�.�.) <&�
��"-
	�E(
1& (>��* �!� 4$"��$$/, <.�.�.; 
Tindall, 1983) D<=�0-�E(
%=�<>�3 (>��* �!�, 2544; >��* �!� 4$"��$$/, <.�.�.) <&)�
<������1
����1=
3�"K�=
3 5.5-6.0 (Tindall, 1983)  
 
3.  0-�#	$%��)�)�*
����'�+&$��,-.%��� ��&�������� �!	� 
 
   �
��$�!�<$?1���J57 )�0 ��%	
�
�%&���&�	���-�
�1(
�����
�K��0 �1�
�+K,D1,<
PN�3
�<$?1���J571&<&)56/
�'#3 4$"��&	3�0!=0)�
<!,03�
�+�,�<$?1���J57 ( �3 ��%�7, 2529) �<$?1���J57
<&)56'<-�!�4$")56/
�1&%&�'51�<��0'5�4�=%
3'�&���%	
 (>��* �!� 4$"��$$/, 2530) PN�3�����"	"
%&��<$?1���J57'"'<�E(
K���4K,3D�,'#3'51 ( �3 ��%�7, 2529; >��* �!� 4$"��$$/, 2530) �<$?1���J57%&�
1&)��<&$���6"%&�'"0
1 -��'5%J�p%�E31,
��<$?1���J574$"'
	���J57 ��
� 
��<$?1������ 30�D1,1& ��1��?� 
'<�(
�'<0 4$"D1,!,��$,
%&���!�4>?34�3'<-#�67 <&>�
1 �E(
K��� 4$" '&'1+''<�(
�'<0 4$"!�3!
<
���J57 D<=<&.�)4$"4<$3!�1�"��<
 4K,3<&)�
<��E�!�(
 D<=<&�<$?1���J57%&�4!��,
��'&	K
	 <&��"��!�
�
��$�!4$"�
��}�-�!�%&�1&4$"�K<
"'< (��$$/, 2540) �
��$�!�<$?1���J57�������	
�+K,D1,�$�$�!'#3
4$")56/
�1& +�/
)+!,)���$#��$
	n1#����"<
6�1�0�J���
)<�N3<��
)< (>��* �!�, 2535) 
PN�3��?-��&�	��<$?1���J57D1,��"<
6�1�0�<&�
)< %&������"	"%&��K<
"'<'(
K��-�
���?-��&�	��<$?1���J57 
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����03 
������=�3%&�'/
�0
�
�4K,3 <&)�
<��E�'�<��%J7!�(
 4$"D<=<&��!� .1	�<$?1���J57�������	
�
���J57)�1-<.0. <&)56/
�%
3'�&���%	
'#3'51 )�0 <&)�
<30�<
!��
� 100 ��0�7�P?�!7 4$")�
<30�
+�4�$3 96 ��0�7�P?�!7 !�1���D1,'#3 77.97 ��0�7�P?�!7 '=���
��$#��1�0�<&�
)<D<=�K<
"'<
'(
K��-�
��$�!�<$?1���J57 ����03 
�0
�
��,0� 4$"<&��!�+��=�3K$�3�
�'5�4�= �=0��
���?-
��&�	��<$?1���J57 %(
+K,)56/
�%
3'�&���%	
>03�<$?1���J57$1$3 �
���?-��&�	��<$?1���J57)����?-
��&�	�+K,��?�%&�'51K$�3 
��<$?1���J57'5�4�=�<��0���4K,3����'&�E(
!
$ (>��* �!� 4$"��$$/, 2537>) 
K��0�<$?1���J57<&0
	5 20 ���K$�310�-
� (>��* �!� 4$"��$$/, 2530; >��* �!� 4$"��$$/, 
2537>) 4$"%	0	��?-�<$?1���J57!
<�"	"��$
�
�'5�4�= (>��* �!� 4$"��$$/, 2538) ����03 
�
�������	
�<&�
�� ��*�!�-.!4--�$�E0	4$"%	0	00�10� (>��* �!� 4$"��$$/, 2540) )����?-��&�	�
���+��=�3!,�4$"�=�3�$
3>03�
�+K,�$�$�! %(
+K,D1,�<$?1���J57%&�<&)56/
�%
3'�&���%	
'#3 %�E3)�
<30�
<
!��
� )�
<30�+�4�$3 )�
<4>?34�3+��#�1���&)�
<��?�+��
�30� 4$")�
<	
��
�>03
!,��$,
1&��=
�<$?1���J57%&���?-��&�	�+��=�3�$
	 (>��* �!� 4$"��$$/, 2538) 4$"D<=)���$=0	
�<$?1���J57%&�'5�4�=D�,-�!,����+�4�$3 ���
" "%(
+K,)56/
�4$"�E(
K���>03�<$?1���J57'#*�'&	D� 
����03 
��
��'��0<)56/
�>03�<$?1���J57 4$"�
�%(
$
	>03.�)4$"4<$3 (>��* �!�, 2534)  
   �
��$�!�������	
�����0+K,D1,���'1%&�<&�$�$�!'#34$")56/
�1& !�3��-)�
<!,03�
�
>03!$
1 �0� 
�>NE�0	#=��-$���6"��" (
���J57 (>��* �!� 4$"��$$/, 2537�) )���$�0�����$#�
%&��K<
"'< ����0+K,�������	
�'
<
��� ��*�!�-.!%
3$(
!,� 00�10� !�1���+�'/
�4�1$,0<%&�
�K<
"'< ����0+K,�$�$�!���'1<&$���6" '&4$">�
1��� !�3��-)�
<!,03�
�>03!$
1 <&�',�+	�,0	 
(>��* �!� 4$"��$$/, 2535) 4$"�$�$�!���'1<&'
����!�),
3 
��
�+�,'
��S03����(
 �14<$3
��!�#D<=����<
!��
�'#3'51%&��(
K�1D�, ��=� .<.�.)�.!o0' �<%J
<�.1o0' D1�<%.J�0% �<%.J<�$ 
�<���o0' .0<�.J�0% 4$"DP��0�7�<%��� 0.20  1.00  2.00  5.00  0.10  0.10 4$" 0.05 <�$$����<
>03'
�!=0��.$���<>030
K
� !
<$(
1�- ('(
���3
����!� �3K��1�5<��, 2541) 
 
4.  �	
��2������ �!	�3�#	03
�   
 
    
��
	3
�>03��<'=3�'��<�
����!� (2550) +��@��
"�$#� 2550/51 ��"�%�D%	
<&��E�%&��$#��������	
�0	#=+�/
)�K��0 3,881 D�= /
)!"���00��L&	3�K��0 14,274 D�= /
)�$
3 
36,664 D�= 4$"/
)+!, 14,395 D�= +�/
)+!, �3K��1%&�<&��E�%&��$#�<
�%&�'51 D1,4�= �)���&J��<�
� 
<&��E�%&��$#� 3,332 D�= �03$3<
)�0 '5�
�T�7J
�& 3,239 D�= ��!!
�& 2,836 D�= '!#$ 1,002 D�= 4$"
'3>$
 904 D�= PN�3<&�
��$#� 3 4-- )�0 �$#�����'�� �$#��������4P<+�'��D<,�$ 	
3�
�
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4$"<"��,
� 4$"�$#�K$�3�
 (>��* �!� 4$"'
	�6K7, 2523; ��<'=3�'��<�
����!�, 2539)  
�
��$�!�������	
�+�/
)+!,�����
��$�!����0-��./)+�/
)+!, 4$"-
3'=��'=300�D�	�3��"�%�
<
�$�P&	4$"'�3).��7 (>��* �!�, 2535)  
  �������	
��������%&�<&0�!�
�
�K
	+ '#3<
� ( ��34%,, 2538)  N3�'��0<)56/
�)=0�>,
3
��1��?�K$�3�
���?-��&�	� %(
+K,D<='
<
��>�'=3D�>
		�3!$
1%&�K=
3D�$ 
�4K$=3�$�!D1,<
���� 
(>��* �!� 4$"��$$/, 2535) ��"�0-��-�������	
�����������%&�<&$���6"�L�
"+��
�-��./)+�
4!=$"%,03���� (>��* �!� 4$"��$$/, 2537>) %(
+K,���J57%&�+�,��
"�$#� N3<&%�E3���J57��E��<�034$"���J57
�
�),
 PN�3+��
��$#����!���'=��<
��$�0�P�E0�<$?1���J57 
��,
�),
�<$?1���J57 (>��* �!�, 2535) 
4$"-
3'=����	<��?-�<$?1���J57 
�4�$3�$�!D�,+�,�03 (>��* �!� 4$"'
	�6K7, 2523) K$
	���J57
%&����!���+�, 	�3D<=<&�
�%1'0-���J57+�/
)+!, ����0����>,0<#$+K,���!��� (>��* �!� 4$"'
	�6K7, 
2523) /
)���
����
'!�7 )6"%���	
��J��<�
!� <K
��%	
$�	'3>$
�)���%�7 ��%	
�>!K
1+K*= 
0(
�/0K
1+K*=  �3K��1'3>$
 D1,%1'0-���J57�������	
� (
��� 6 ���J57 +�n1#��4���1�0��n�/
)< 
�@ 2523 �-�=
 ���J57>03-����%� &	D!~'
<
��� ��*�!�-.!4$"+K,�$�$�!'#3 (>��* �!� 4$"'
	�6K7, 
2523) �@ 2524 D1,%1'0-���J57�������	
� (
��� 8 ���J57 +�n1#���1�0�!5$
)< �-�=
 ���J57         
�2.1B-130 �1-91 ��=33=���&� �2.1A-89 4$"'K
	�
����!� +K,�$�$�!1&4$"<&$���6"��� '& 
�E(
K��� 4$")�
<	
�!�3��-)�
<!,03�
�>03!$
1 .1	���J57 �2.1B-130 +K,�$�$�!'#3'51 
(>��* �!�, 2530) �@ 2532 %1'0-���J57�������	
� (
��� 10 ���J57 +�n1#���1�0��n� ��
	� 
�-�=
 ���J57�2-IA +K,�$�$�!'#3 ���-!���>,
��-'/
�0
�
�>03 �3K��1'3>$
D1,1& 4!=���<&>�
1
'�E� ���J57%&��=
'�+  )�0���J57)�1-<.0. <&���	
�%&�'51 <&$���6"��� '&4$">�
1 !�3!
<)�
<
!,03�
�>03!$
1 4$"+K,�$�$�!'#3 (>��* �!� 4$"��$$/, 2535) 4$"�@ 2537 %1'0-���J57
 (
��� 8 ���J57 +�n1#4$,3�1�0��<�
	� 4$"n1#��4���1�0�<��5�
	� �-�=
 +�n1#4$,3���J57         
�2-IA +K,�$�!'#3'51 '=��+�n1#��4�����J57)�1-<.0. +K,�$�$�!'#3'51 0	=
3D��?!
<  
��
��$#�
�������	
�%�E3'03n1# ���J57 �2-IA �������J57%&�� ��*�!�-.!D1,1&4$"+K,�$�!'#3 4!=<&���'�E� ���J57%&�
�=
'�+  )�0���J57)�1-<.0. PN�3<&���	
�%&�'51 4$"<&$���6"0��� O >03���!�3��-)�
<!,03�
�>03
!$
1%,03���� (>��* �!� 4$"��$$/, 2537�)  
  '(
K��-.�)4$"4<$3��!�#%&��-4$"������*K
+��
��$#��������	
� D1,4�= .�)�K&�	� 
(wilt) ���1 
����E0 Fusarium sp. .�)+-1=
3 .�)�����=
���1 
����E0 Pythium sp. .�)�
'��< 
(rust) 4$"�
4�S3 (powdery mildew) '=��4<$3��!�#'(
)�*%&��-+��
��$�!�������	
� D1,4�= 
��$&E	0=0� 4<$3���� 
".)�!,����� ��$&E	Do K�0�� 
"������� (>��* �!� 4$"��$$/, <.�.�.;  
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>��* �!� 4$"��$$/, 2535; >��* �!� 4$"��$$/, 2537>) 4$"K�0��0�+- (%���&	7, 2537) �
�
�}�-�!�1#4$����
 ���!���+�,�5V	�)<&�=�<��-�5V	0��%�&	7 62.2 ��0�7�P?�!7 +�,�5V	�)<&��&	30	=
3�1&	� 
37.8 ��0�7�P?�!7 +�,'
��)<&�S03����(
 �14<$3 97.8 ��0�7�P?�!7 +�,'
��)<&�S03����(
 �1.�) 17.8 
��0�7�P?�!7 <&�
��(
 �1������.1	+�,'
��)<&4$"�
��
� 21 4$" 70 ��0�7�P?�!7 !
<$(
1�- (��<
'=3�'��<�
����!�, 2539)  
   �������	
����J57)�1-<.0. �������J57%&����!���+�/
)+!,!0�$=
3��	<�$#��=0� �@ 2528 
/
)���
����
'!�7 )6"%���	
��J��<�
!� <K
��%	
$�	'3>$
�)���%�7 ��%	
�>!K
1+K*= 
0(
�/0K
1+K*=  �3K��1'3>$
 D1,�(
���J57<
�N��
 )�1�$�0� 4$"�$�!�<$?1���J571&%&�<&)�
<-��'5%J�p
>03���J57'#3 !�E34!=�@ 2529 4$"��	4��=�<$?1���J57'#='
J
�6�� �������	
����J57)�1-<.0. �������J57
�'<��k1 ����<%01	01��"<
6 3 '��1
K7K$�3�$#� <&0
	500�10� 42-49 ���K$�3�$#� 10�<&'&
>
� ��?-���'1 10-12 ���K$�310�-
� ���'&�>&	�0=0� ���	
� 60-65 �P�!��<!� �E(
K������  
16-21 ���< +K,�$�$�!���'1 1,200-1,700 ��.$���<!=0D�= �<$?1���J57'&>
� 	
� 0.92-1.04 �P�!��<!� 
<& (
����<$?1�L$&�	 20-25 �<$?1!=0��� <&�<$?1���J57 1 ��.$���< ��"<
6 6,500-7,500 �<$?1      
(>��* �!� 4$"��$$/, <.�.�.) 
 
5.  )��
�������	
35��	
�0'�3��	
)�*
�	��	
���

 
     

      
�)�
<!,03�
��$�$�!%
3�
����!�����<>NE�+K,��&	3�0!=0�
�-��./)4$"
�
�'=300�>03��"�%� 1,�	��J&�
��$�!%&�+�,�5V	�)<& 4$"'
��)<&�S03����(
 �1��!�#��� '=3�$+K,<&
�
��(
�>,
�5V	�)<&4$"'
��)<&���� (
���<
� ��=� �@ 2547 <&�
��(
�>,
�5V	�)<& '
��)<&�S03���
�(
 �14<$3 .�)��� 4$"������<#$)=
 33,245 2,835 1,719 4$" 6,080 $,
�-
% !
<$(
1�-              
(��<���
�
����!�, 2547; ��<'=3�'��<�
����!�, 2549) �
�+�,'
��)<&!=0����03���������$
�
� 
4$"+�,D<=�#�!,03!
<)(
4�"�(
 '=3�$+K,���1�
�'"'<>03'
����+�1��  �=0+K,���10��!�
	!=0'��34�1$,0<
4$"�&��!<�5�	7 .1	�L�
"'
��)<&�S03����(
 �14<$34$".�)���%&�<&.0�
'����QR0�+�1�� 4$"
4K$=3�E(
 '=3�$��"%-!=0�"--����� (>��*��	, 2528; ����J7, 2548) 4$"'5>/
�>03���!��� 
.1	+��@ 2541 <&�#,���	%&�D1,��-��� 
�'
��)<&�S03����(
 �14<$34$"������ (
��� 4,398 �
	 )�1
����0�!�
���	 7.16 !=0��"�
��4'�)� '#3��=
0�!�
���	�@ 2538-2540 �%=
��- 5.71 5.28 4$" 
5.42 !=0��"�
��4'�)� !
<$(
1�- .1	+��@ 2535-2541 <&�#,D1,��-��� 
�'
��)<&�S03����(
 �1
��!�#����N3>�E�<&�"1�-�0�DP<7��1��!� 16-21 ��0�7�P?�!7 	�3D<=<&4��.�,<$1$3 PN�3���1>03'
��)<&
�S03����(
 �14<$3%&�����'
�K!5>03�
����	 D1,4�= '
��$5=< Organophosphate Carbamate 
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Chlorinated hydrocarbon 56.98 12.01 14.14 ��0�7�P?�!7 !
<$(
1�- 4$"'
��(
 �1������ 13.31 
��0�7�P?�!7 (���1
, 2545) �0� 
��&E 
��
���?-!��0	=
3�$�$�!%
3�
����!�>03��<��%	
�
'!�7 
�
�4�%	7 (2536) �-'
��)<&!�),
3+��$�$�!%
3�
����!�4$"0
K
�!=
3 O 30-40 ��0�7�P?�!7
>03 (
���!��0	=
3%&����)�
"K7 .1	�L�
"+��������	
�%&�'(
��  �@ 2539-2540 �-'
����!�),
3 
32 !��0	=
3  
� 60 !��0	=
3 4$"+��@ 2543-2544 �-'
����!�),
3 60 !��0	=
3  
� 96 !��0	=
3 
(���1
 4$")6", 2545) 
  
6.  �	
)�*
$�53�
������

�*��
�!. 
 
   ���!�0��%�&	7 (organic farming) �����"--�
��$�!%
3���!�%&�K$&��$&�	3�
�
+�,�5V	�)<&'�3�)�
"K7 '
��)<&�S03����(
 �1��!�#��� 4$"'
�)�-)5<�
�� ��*�!�-.!>03���%&�<

 
��
�'�3�)�
"K7%
3�)<& .1	���D1,��-J
!50
K
� 
�P
���� P
�'�!�7 <#$'�!�7 �
�D��$-���
!�"�#$���� �5V	���'1 �
��$#����K<5���&	� 4$" 
��
�	=0	'$
	K��0�
��5��3>03K��4�= ����0�=�	
����
)�
<051<'<-#�67>031��%&�����4K$=30
K
�>03��� ��<%�E3+�,K$���
�)�-)5<��!�#���.1	
��J&�&�/
� (���#�	7, 2547; Lampkin and Padel, 1994)  
  ��  5-���
��$�!4--���!�0��%�&	7���0-%5���"�%�%���.$� <&�
���{�
4$">	
	!��
%
31,
�!$
1����<>NE��@$" 20-25 ��0�7�P?�!7 .1	+��@ 2002 <&��E�%&����!�0��%�&	7�=
��
���-�03
4$,� 17.8 $,
����!,
 ��"�0-1,�	 ��"�%�00'�!��$&	 ��"�%�+�%�&�	5.�� $
!��0�<���
 
0�<���
�K��0 �0��&	 4$"0
o���
 7.7 4.2 3.7 1.3 0.21 4$" 0.15 $,
����!,
 !
<$(
1�- (Nadia 
and Caroline, 2002) '(
K��-+���"�%�D%	 ���!�0��%�&	7	�3)30	#=+��"	"����<!,� <&�$5=<�#,�$�!
4$"�#,��"�0-�
���&	3 (
���K�N�3�%=
��E� �
���{�
4$"�
�>	
	!��>03��E�%&����!�0��%�&	7	�3
<&0	#=�,0	 .1	+��@ 2544 <&��E�%&�%(
���!�0��%�&	7 14,910 D�= ����<���� 55,992 D�= +��@ 2545 PN�3)�1
���� 0.043 ��0�7�P?�!7 >03��E�%&����!����<%�E3K<1>03��"�%� .1	������E�%&��$�!>,
�4$"���D�= 
32,841 D�= ��� �$D<, 4$"���'<5�D�� 20,167 D�= (���#�	7 4$"� �6&, 2546) 
  +��"--���!�0��%�&	7�<$?1���J57%&����!���+�,'=��+K*=�����<$?1���J57%&��$�! 
�
�"--�
��$�!%&�+�,'
��)<& ����03 
��<$?1���J570��%�&	7K
P�E0D1,	
� (Borgen, 2002) ���
"!,03
�=
���"-���
��$�!!
<<
!��
�>03���!�0��%�&	7 %&�<&�
���-�03�"--�
��$�!%&�'
<
��
!�� '0-D1, (������, 2546) .1	�5V	)0�%&��(
<
+�,�$�!�<$?1���J570��%�&	7!,03<
 
�'�!�70��%�&	7 
'�!�70��%�&	7!,03�$&E	31,�	K*,
0��%�&	7 4$"K*,
0��%�&	7%&�'�!�7���!,03<
 
��<$?1���J570��%�&	7 
(Borgen, 2002) 1�3��E�����0�03��-<
!��
��
��$�!���1,�	�"--���!�0��%�&	7 K$
	��"�%� N3
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D1,�N��
K
���J57���0��%�&	7 4$"�$�!�<$?1���J570��%�&	7>NE�<
K$
	���1 D1,4�= �<$?1���J57���0
K
�
'�!�7 >,
�.�1 %
�!"��� >,
�'
$& ��� 4$"���!�"�#$���� (Kaute, 2003) .1	�(
���J57%&�+�,+��"--
�
��$�!%&�+�,'
��)<& <
%1'0-����0K
���J57%&��K<
"'< )�1�$�0����J57%&�!�3!
<)�
<!,03�
�>03
!$
1 ���-!��D1,1&+�%5�'/
�4�1$,0< � ��*�!�-.!D1,1&+�1��%&�<&)�
<051<'<-#�67!�(
 (Steve  
et al., 1999) 4>=3>����-������D1,1& !,
�%
�.�)4$"4<$3 +K,�$�$�!'#34$"<&)56/
�1&'<�(
�'<0 
(Kaute, 2003) 4K$=3>03J
!50
K
�%&��(
<
+�,!,03<
 
�'
�0��%�&	74$"��'15J��<�
!� D1,4�=  
�5V	K<�� �5V	)0� �5V	���'1 K��0���P
��K$�0%�E3 
���'15!=
3 O (Lampkin and Padel, 1994)  
�5V	�$
K<�� �$�014K,3 �$
��� ��"1#���� ���<�' �����K$�03��� >&E��,
 �E(
K<�� 
�'
K�=
	%"�$ 
'&�E(
!
$ 4�=J��<�
!� 	��P��< 4$" .1.$D<%7 (��<���
�
����!�, 2543; Lane and Steve, 2000) 
�S03����(
 �14<$3��!�#���+�,��J&%
3�&�/
� .1	�
�+�,4<$3��!�#J��<�
!� ���E0 5$��%�&	7 '
�'��1
 
���� �E(
'-#= ��-1��4<$3 (Steve et al., 1999) K��0�
��$#����K<5���&	��=�<��-�
��$#����
)$5<�=�<��-+�,���E0 5$��%�&	7 (Finch and Collier, 2000) '=���
�)�-)5<.�)+�,���J57!,
�%
� L&1�=�
J
!5%03413 K��0P�$�o0�7 �$#����)$5< �$#����K<5���&	� (Steve  et al., 1999) 4$"�(
 �1������
.1	+�,�
��$#����K<5���&	� (Porter et al., 2003; Teasdale et al., 2004)  
 
7.  !*�8��' 
    
    	��P��< (gypsum) ����4�=J��<�
!�%&�����4K$=3>03J
!54)$�P&	<4$"P�$�o0�7%&�'
<
��
�(
<
+�,%14%�J
!54)$�P&	<4$"P�$�o0�7+��
��$�!���1,�	�"--���!�0��%�&	7D1, (Lane and 
Steve, 2000) 	��P��<<&)56'<-�!��=�	+K,���!�"�#$����'�,
3�<����<>NE� ('<���1�p, 2541) �=�	+K,�
�
>03���!�"�#$����K	��3$N�$3D�+�1��%&�<&)�
<��E�!�(
 (Stout and Priddy, 1996) �=�	���-��53.)�3'�,
3
%
3�
	/
�4$"����<�$�$�!+����!�"�$#���� D1,4�= ����4>� (Hamza and Anderson, 2003)  
����$�'3 ('5��**
 4$")6", 2545) alfalfa (Sumner et al., 1986) �����K$�03 (Hammel et al., 
1985) >,
�'
$& (Hamza and Anderson, 2003) >,
�.�1 (Toma et al., 1999) +������� D1,4�= 
�"K$�(
�$& (Bhagavantagoudra and Rokhade, 2002) 4$"����<�$�$�!�<$?1���J57����
1K�� 
(Ara et al., 1999) 0
 ����03 
�	��P��<��"�0-1,�	J
!54)$�P&	<4$"P�$�o0�7PN�3����J
!50
K
�
�03%&���� (
����!,03+�, (	3	5%J, 2543) .1	�L�
"�
��$�!�<$?1���J57 �,
���>
14)$�P&	<<&�$!=0
�'�&	�/
�>03�P$$7�<<�-��PN�3����'
�K!5K�N�3%&�%(
+K,�<$?1���J57�'��0<)56/
� (1�56& 4$")6", 
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2545) '=��P�$�o0�7����03)7��"�0-%&�'(
)�*>03��10"<�.�4$".��!&� �,
���>
1%(
+K,���'�3�)�
"K7
.��!&�D1,�,0	 (	3	5%J, 2543)  
 
8.  �:�	('��5��#	$ 
   
   �E(
K<���&�/
�����'
�$"$
	%&�D1, 
��
�	=0	'$
	'=��!=
3 O >03���K��0'�!�7
.1	�=
���"-���
�K<��+�'/
�%&�D<=<&00�P�� � (anaerobic condition) .1	<& 5$��%�&	7%(
K�,
%&�
	=0	'$
	+K,�$
	����'
�$"$
	 ('�
-���� �	��%	
�
'!�74$"�%).�.$	&4K=3��"�%�D%	, 2547) 
'
�$"$
	%&��=
���"-���
�	=0	'$
	'<-#�674$,� ��"�0-1,�	'
�0��%�&	7 D1,4�= )
�7.-D��1�% 
.��!&� �0�DP<7 ��10��%�&	7 ��=� ��14$)!�) ��10"P&!�� ��1o0�7<�� ��10"<�.� 4$"��1���<�� 
4$"�0�7.<���� ��=� 00�P�� (auxin)  �-�-0��$$�� (gibberellin) 4$"DP.!D)��� (cytokinins) 
��<%�E3J
!50
K
����%�E3J
!50
K
�K$�� J
!50
K
��03 4$"J
!50
K
��'��< (��<��{�
%&�1��, 2545; 
�03���!��)<&, 2545; '5��	
, 2542; 00<%���	7, 2545) 4$"<& 5$��%�&	7���1 %&����� 4-)%&��&	 ��=� 
Bacillus sp. Lactobacillus sp. Streptococcus sp. ���E0�
 ��=� Aspergillus sp. Pennicillum 
sp. 4$" Rhizopus sp. 4$"	&' ��=� Candida sp. (00<%���	7, 2545)  
  �
��$�!�E(
K<���&�/
�+K,D1,)56/
�1&<&���<
6J
!50
K
�<
� >NE�0	#=��-���1
>03��!�5%&�+�,K<��4$"��"-���
�K<�� ��=� �
�K<���"K$�(
�$& (
��� 3 ��.$���< �=�<��-�
��E(
!
$
��"<
6 1.0-1.5 ��.$���< +K,J
!5D�.!�� � o0'o0��' 4$".�4!'�P&	< 0.11 0.015 4$" 0.169 
��0�7�P?�!7 !
<$(
1�- (�n<$, 2544) �
�K<�������<K$
	���1 +K,J
!5D�.!�� � o0'o0��' 
.�4!'�P&	< 4)$�P&	< 4<��&�P&	< 4$"P�$�o0�7 0.14 0.30 0.40 0.68 0.26 4$" 0.27 ��0�7�P?�!7 
!
<$(
1�- �
�K<���$D<,��< +K,J
!5D�.!�� � o0'o0��' .�4!'�P&	< 4)$�P&	< 4<��&�P&	< 
4$"P�$�o0�7 0.27 1.12 0.67 0.58 0.01 4$" 0.17 ��0�7�P?�!7 !
<$(
1�- (��<��{�
%&�1��, 2545) 
4$"�
�K<���$
%"�$ +K,J
!5D�.!�� � o0'o0��' .�4!'�P&	< 4)$�P&	< 4<��&�P&	< 4$"P�$�o0�7 
1.25 0.32 1.24 0.29 0.096 4$" 0.15 ��0�7�P?�!7 !
<$(
1�- ����!,� (�03���!��)<&, 2545) 
'(
K��-)�
<������1����1=
3>03�E(
K<���&�/
�0	#=�"K�=
3 3.0-5.5 .1	�E(
K<���&�/
�%&�+�, ��� 
�$D<, 4$"���'<5�D�� <&)�
<������1'#3��=
�E(
K<���&�/
� 
���E�'=��>03'�!�7 4$"�E(
K<��%&�<&
�
��(
DooS
'#34'13�=
<&J
!50
K
�<
� (�03���!��)<&, 2545) 
  ��".	��7>03�E(
K<���&�/
� �=�	����<��"'�%J�/
�>03)56'<-�!�%
3�&�/
� �)<& 
4$"%
3�
	/
�>031�� .1	�=�	����<���<
6>03 5$��%�&	7 ���-)�
<������1����1=
3 )�
<��E� 
J
!5o0'o0��' .�4!'�P&	< 4$"4)$�P&	<+K,��-1�� 4$"	�3�=�	'=3�'��<�
�30�>03�<$?1���J57  
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�
�� ��*�!�-.! 4$"�=�	����<�$�$�!>03��� (��<��{�
%&�1��, 2545) �=�	�S03����(
 �1.�) .1	
	�-	�E3�
�� ��*>03���E0'
�K!5.�)��� (
��� Colletotrichum gloeosporioides Didymella 

bryomia Fusarium oxysporum f. sp. Lycopersici  Sclerotium rolfsii 4$" Ralstonia 
solanacearum ('5��&	
 4$")6", 2546) �=�	�S03����(
 �14<$3��!�#��� .1	�
�+�,'
�'��1 
�
���'<5�D�� ��=� '
�'��1 
�'"�1
 �=�	�S03�����$&E	��".11'&�E(
!
$ ��$&E	 �� ���'&�>&	� K�0�
+	��� <���>&	� K�0��&�'�E0�$
3)�� K�0���"%#, 4$"!���4!� (<	5�
, 2538) '
�'��1 
�K
3
DK$'
<
��+�,�S03����(
 �1 1,�3K<�1��� ��$&E	0=0� 4$" D�>
����� (0�56 4$")6", 2546)  
'=��'
�'��1 
�+-	
'#- '
<
���=
4$"D$=��$&E	0=0� ��$&E	Do 1,�3K<�1��".11 1,�3� 
"�<$?1
���� K�0��&�'�E0 (3
<�=03, 2535) 4$"K�0�+	 (<	5�
, 2545) 
 1�3��E��
��(
�E(
K<���&�/
�<
+�,+��
��$�!���!,03+�,0	=
3�"<�1�"��3 �,
+�,�>,<>,�
<
�����D�%(
+K,����"3���
�� ��*�!�-.! +-�K$�03 ����03 
�+��E(
K<���&�/
�<&)�
<�>,<>,�>03
0��%�&	7'
�4$"�
��(
DooS
>03'
�$"$
	'#3 (��<��{�
%&�1��, 2545)  N3 (
����!,03� �0 
3
1,�	�E(
 0�!�
%&��K<
"'<%&�4�"�(
+K,+�, )�0 0�!�
'=���E(
K<���&�/
�!=0�E(
'"0
1 1:500-1,000 
�1+K,���%5� 3-7 ��� (�03���!��)<&, 2545; 00<%���	7, 2545) �
��(
�E(
K<���&�/
�<
+�,%14%�
�5V	�)<&+��
��$�!���'
<
���=�	����<�$�$�!4$")56/
�>03���D1,+��"1�-K�N�3 ����03 
�+��E(
K<��
�&�/
�<&���<
6J
!50
K
���&	3�$?��,0	%&����'
<
���(
D�+�,��".	��7D1, 1�3��E� �
�+�,�E(
K<��
�&�/
�+��"--���!�0��%�&	7 N3 (
����!,03+�,�=�<��-�5V	0��%�&	7 (�5V	K<�� �5V	)0� 4$"�5V	���'1) 
K��0�5V	�&�/
�  N3 "D1,�$1& (00<%���	7, 2545)  
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��
�-�
���0. 
 
 1. ����0�N��
�$�$�! )56/
�>03�<$?1���J57 4$"���'1�������	
����J57)�1-<.0. 
%&��$�!/
	+!,�"--���!�0��%�&	7���&	-�%&	-��-�
��$�!%&�+�,'
��)<& 
 2. ����0���)�
"K7!,�%5��
��$�!�<$?1���J57 4$"���'1�������	
����J57)�1-<.0.%&�
�$�!/
	+!,�"--���!�0��%�&	7���&	-�%&	-��-�
��$�!%&�+�,'
��)<& 
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����� 2 
 

���&- �-��
�.%���*,��	
 
 

 �
��$�!�<$?1���J574$"���'1�������	
����J57)�1-<.0. %&�4�$3%1$034$"K,03�}�-�!��
�
�<$?1���J57��� /
)���
����
'!�7 )6"%���	
��J��<�
!� <K
��%	
$�	'3>$
�)���%�7 ��%	
�>!
K
1+K*= 0(
�/0K
1+K*=  �3K��1'3>$
 �"K�=
3�1�0�<��
)< 2547 4$"'�E�'51�
�%1$03
�1�0�'�3K
)< 2548 
 
���&- 
 
      1. �<$?1���J57�������	
����J57)�1-<.0. 
      2. �5V	'#!� 15-15-15 4$" �5V	)0� 

      3. '
��S03����(
 �14<$3 D1,4�= ok.����$ )
�7.-o#�
� 4$"+-	
'#- 
      4. '
� �-+- D1,4�= 4$)�o�7� - 7 4$"�E(
'-#= 
 5. ��3L&1'
��)<&4$"+-	
'#- 
      6. !,����-5,3 &�      
     7. �
��E(
!
$ 
      8. ���E0 5$��%�&	7 (D-.0��)) 
      9. 	��P��< (��&�4)$) 

      10. ��3K<�� 
       11. ��3�'<�E(
K<��    

 12. -���1�E(
 
 13. D<,),
3 
 14. '<51�%&	-'&>03 The Royal Horticultural Society, London   
 15. ��"1
���
" 4$"�53�$
'!��        
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�-��
�. 
           
  1. 0=
3�E(
)�-)5<056K/#<� (water bath) 
     2. !#,��
"�<$?1���J57 (seed germinator) 
     3. !#,0- (hot air oven) 
     4. �)���03���3$"�0&	1 (analytical balance) 
 5. �)���03���31� �!0$ 
    6. �)���03��1$"�0&	1 (vernier) 
             
�*,��	
 
 
1. �	
)�*
�'�+&$��,-.  
 1.1 )�����:�	('��5��#	$ %��!*�8��'
;�)�)�*
%��0-�#	$����'�+&$��,-.����� �!	�  
   �$#��������	
� ���%&� 1 <��
)< 2547 +�,4���
�%1$034-- Randomized 
complete block (RCB) 4$"���&	-�%&	-)=
�L$&�	%
3'��!�1,�	��J& Duncan�s Multiple Range 
Test (DMRT) %(
�
�%1$03 4 ��J&�
�  (
��� 4 PE(
 )�0  
   ��J&�
�%&� 1 +�,'
��)<& .1	�
��03�,�K$5<�$#�1,�	)
�7.-o#�
�K$5<$" 1 ���< 
+'=�5V	 15-15-15 0�!�
)��E3$" 20 ��.$���<!=0D�= %&�0
	5 2  5 4$" 7 '��1
K7K$�3�$#� �S03���4$"
�(
 �14<$31,�	ok.o���$0�!�
 20 P&P&!=0�E(
 20 $�!� L&1�=�%5� 7 ���  
   ��J&�
�%&� 2 +�,�E(
K<���&�/
� 
����-5,3�'<�E(
0�!�
 1:1,000 �1)��E3$" 40 
$�!�!=04�$3 
   ��J&�
�%&� 3 +�,	��P��< +'=	��P��<��,0<�!�&	<4�$30�!�
 50 ��.$���<!=0D�=  
   ��J&�
�%&� 4 +�,�E(
K<���&�/
� 
����-5,3�'<�E(
0�!�
 1:1,000 �=�<��-	��P��< 
.1	�1�E(
K<���&�/
�)��E3$" 40 $�!�!=04�$3 4$"+'=	��P��<��,0<�
��!�&	<4�$30�!�
 50 
��.$���<!=0D�=  
   .1	��J&�
�%&� 2 4$" 4 +�,�E(
K<���&�/
� 
����-5,3%&�D1, 
��
�K<�����-5,3 3 
��.$���< + �
��E(
!
$ 1 ��.$���< + ���E0 5$��%�&	7 100 ���<!=0�E(
 1 $�!� K<��+���3%&�<&�
�k1 45 
��� (�=�< �!�, 2546) D1,�E(
K<���&�/
�'&�E(
!
$�>,< (!
�
3/
)����%&� 1) <&)�
<������1����1=
3 
4.73 D�.!�� � o0'o0��' .�4!'�P&	< 4)$�P&	< 4<��&�P&	< 4$"P�$�o0�7 �%=
��- 0.30 0.03 
0.97  1.01 0.14 4$" 0.14 ��0�7�P?�!7 !
<$(
1�- �'<�E(
0�!�
 1:1,000 +�,�1!,��������	
�K$�3
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�<$?1���J5730�%5� 7 ��� 4$"��J&�
�%&� 2-4 �S03����(
 �14<$3��!�#.1	+�,'
�'��1 
�+-	
'#- 100 
���<!=0�E(
 10 $�!� K<�� 24 ����.<3 (<	5�
, 2538) L&1�=�%5� 7 ���  
      �$#��������	
�+�1��%&�<&)�
<������1����1=
3 7.25 0��%�&	��!�5 1.48 ��0�7�P?�!7 
D�.!�� � 0.70 ��0�7�P?�!7 o0'o0��' .�4!'�P&	< 4)$�P&	< 4<��&�P&	< 4$"P�$�o0�7 (!
�
3
/
)����%&� 3) �%=
��- 96.28  66.47  569.14 30.38 4$" 22.44 <�$$����<!=0��.$���< !
<$(
1�- 
	�4�$3>�
1 1 X 5 �<!� ��,�%
3�1���"K�=
34�$3 50 �P�!��<!� +�,�"	"�$#� 50 X 70 
�P�!��<!� +'=�5V	)0� (!
�
3/
)����%&� 2) %&�<&)�
<������1����1=
3 8.79 0��%�&	��!�5 45.10 
��0�7�P?�!7 D�.!�� � o0'o0��' .�4!'�P&	< 4)$�P&	< 4<��&�P&	< 4$"P�$�o0�7 �%=
��- 1.39 
0.47  2.08  3.20  0.61 4$" 0.32 ��0�7�P?�!7 !
<$(
1�- 0�!�
 1,000 ��.$���<!=0D�= �<��0!,��$,

0
	5 14 ���K$�3�$#� �0�4	�+K,�K$�0K$5<$" 2 !,� �#�.)�4$"���),
3�<��0!,��������	
�0
	5 18 
4$" 21 ���K$�3�$#� !
<$(
1�- �(
 �1������ �<��0!,��������	
�<&0
	5 18 4$" 35 ���K$�3�$#�  
 �
�-��%N�>,0<#$�
�� ��*�!�-.!4$"�$�$�!>03�<$?1���J57 
  1. ��0�7�P?�!7!,��$,
�01!
	�<��00
	5 30 ���K$�3�$#� ��- (
���!,��$,
�01!
	
�<��00
	5 30 ���K$�3�$#�>03 (
���!,�%�E3K<1!=04�$3 
  2.  (
������%01	01 50 ��0�7�P?�!7 ��- (
������K$�3�$#� %&�<& (
���!,�
�������	
�%&�%01	01 50 ��0�7�P?�!7 >03 (
���!,�%�E3K<1!=04�$3 
  3.  (
������00�10� 50 ��0�7�P?�!7 ��- (
������K$�3�$#� %&�<& (
���!,�
�������	
�%&�00�10� 50 ��0�7�P?�!7 >03 (
���!,�%�E3K<1!=04�$3  
  4. !,�%&���?-��&�	��$�$�! ��- (
���!,��������	
�K$�3��?-��&�	��<$?1���J57�'�?  1 ��� 
>03 (
���!,�%�E3K<1!=04�$3 
  5. !,�����.�)!
	 ��- (
���!,�%&�����.�)�K&�	� (wilt)  
����E0 Sclerotium sp. !
	
!$01n1#�$#� >03 (
���!,�%�E3K<1!=04�$3 
  6. !,�%&��#�4<$3%(
$
	 ��- (
���!,�%&��#�4<$3���� 
"$(
!,�%(
$
	!
	K$�3
�<$?1���J5730� ��N3�"	"00�10�>03 (
���!,�%�E3K<1!=04�$3 
  7. 0
	5��?-��&�	��<$?1���J57 ��- (
������K$�3�$#��N3�����?-��&�	����4K,3)��E34��
 ��N3��?-��&�	����4K,3)��E3'51%,
	 .1	��?-����������	
�%&�4K,3<&'&�E(
!
$0=0�K��0K$�3 
�10�-
�
��"<
6 20 ��� (>��* �!� 4$"��$$/, 2538) ��?-��&�	�%5���� �(
<
4	��0
�<$?1���J5700� 
���� 
.1	4	��<$?1���J571&4$"�<$?1���J57%&���=
�'&	4$"�#�4<$3%(
$
	00� K$�3 
���E��(
D�!
�411
�
� 2 ��� 
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  8. �$�$�!�<$?1���J57 �(
�<$?1���J57%&�D1, 
�>,0 7 <
���3�E(
K�����<>03�<$?1���J57+�
4!=$"��J&�
� K$�3 
���E��(
<
)(
��6�$�$�!�<$?1���J571&4$"�$�$�!�<$?1�'&	!=0D�= ����0�(
D�
�N��
)56/
�>03�<$?1���J57 ���)�
"K7'
��)<&�$5=< carbamate (��
	-���
�K,03�}�-�!��
�
'�
-��0
K
�) J
!50
K
�K$�� J
!50
K
��03+��<$?1���J57 (AOAC, 1990) 4$"�$#�%1'0-
�$�$�!���'1+�4�$3�$#�!=0D� 
 %1'0-)56/
��<$?1���J57 
  1.)56/
�%
3�
	/
� 
      1.1 >�
1>03�<$?1���J57 .1	��1)�
<��,
34$")�
<	
�>03�<$?1���J57 4 PE(
 O 
$" 20 �<$?1 .1	+�,�)���03��1$"�0&	1  
   1.2 �E(
K��� 100 �<$?1 �(
�<$?1���J57%&�<&)�
<��E� 9 ��0�7�P?�!7  (
��� 100 
�<$?1 4 PE(
 �(
<
���3�E(
K��� 
   1.3 )�
<��E��<$?1���J57 �(
�<$?1���J57 (
��� 20 �<$?1 4 PE(
 �(
<
���3�E(
K���'1 
4$,��(
D�0-%&�056K/#<� 105 03�
�P$�P&	' ������$
 24 ����.<3 (ISTA, 2003)  
���E��(
<
���3K

�E(
K���4K,3 )(
��6)�
<��E�>03�<$?1���J57.1	+�,�E(
K���'1������6�7 (wet weight basis)  
�
'#!�  
 
      (�E(
K���'1 � �E(
K���4K,3)  X  100 

    �E(
K���'1 
 

   1.4 �E(
K���4K,3>03�<$?1���J57 +�,)=
�E(
K���4K,3K$�30->03�<$?1���J57 
�>,0 1.3 
  2.)56/
�%
3'�&���%	
 
   2.1 )�
<30�>03�<$?1���J57 
   2.1.1 )�
<30�<
!��
� (standard germination) �(
�<$?1���J57<
%1'0-
)�
<30�<
!��
� (ISTA, 2003) .1	��
"�<$?1���J57-���"1
���
"%&��
3��"�-��� (between 
paper)  (
��� 4 PE(
 O $" 50 �<$?1 �(
D�D�,+�!#,��
"%&�056K/#<�'$�- 20�30 03�
�P$�P&	' 
��"�<��)�
<30�)��E34�� (first count) �<��00
	5 5 ��� 4$")��E3'51%,
	 (final count) �<��00
	5 8 ��� 
   2.1.2 )�
<30�+�1�� (soil emergence) ��
"�<$?1���J57 (
��� 4 PE(
 O 
$" 50 �<$?1 +���"-"1���'<�"K�=
31���=����-1��$(
1��0�!�
 3:1 ��"�<��!,��$,
%5����K$�3
�$#� �)�- 8 ��� 

% )�
<��E�  = 
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   2.2 )�
<4>?34�3>03�<$?1���J57 %1'0-)�
<4>?34�3>03�<$?1���J57 4 ��J&  
   2.2.1 1���&)�
<��?�+��
�30� (speed of germination index) !�� ��-
 (
���!,��$,
��!�%5����  
��
�%1'0-)�
<30�+�1�� 
�>,0 2.1.2 �(
�$�
�!�� ��-<

)(
��6K
1���&)�
<��?�+��
�30�>03�<$?1���J57.1	+�,'#!� (AOSA, 2002)  
   

 !,��$,
��!����%&� 1+ ��. +!,��$,
��!����'51%,
	 
     ���!�� ��-)��E34��               ���!�� ��-���'51%,
	 
 
 2.2.2 )�
<	
�	014$")�
<	
��
�>03!,��$,
 %(
.1	�
���
"�<$?1���J57
+�<,����"1
���
"  (
��� 4 PE(
 O $" 20 �<$?1 �
3<,����"1
���
"+K,!�E3�0&	3 45 03�
�P$�P&	' 
+�!#,��
"<�1%&�056K/#<� 25 03�
�P$�P&	' �<��0)�- 7 ����(
!,��$,
��!�<
��1)�
<	
�	014$"�
� 
.1	��1 
�'=��%&������0	!=0�"K�=
3	01��-�
��N3�$
		014$"�$
	�
� !
<$(
1�- (AOSA, 2002) 
 2.2.3 �E(
K���4K,3>03!,��$,
 .1	�(
!,��$,
��!�%&���1)�
<	
�	014$"
�
�  
�>,0 2.2.2 4	��0
+-�$&E	300�+K,�K$�0�L�
"'=��>034��!,�0=0� �(
!,��$,
1�3�$=
�D�
0-%&�056K/#<� 80 03�
�P$�P&	' ������$
 24 ����.<3 (AOSA, 2002) ���3K
�E(
K���4K,3>03!,�
�$,
 )(
��6K
�E(
K���4K,3!=0!,�>03!,��$,
 
�'#!� 
 
     �E(
K���4K,3>03!,��$,
��!� 
             (
���!,��$,
��!� 
 
 2.2.4 �
��(
DooS
 �(
�<$?1���J57 (
��� 4 PE(
 O $" 25 �<$?1 <
���3�E(
K��� 
+'=�<$?1���J57$3+�-����0�7%&�<&�E(
�$��� 75 <�$$�$�!� �(
D�D�,+�!#,%&�056K/#<� 20 03�
�P$�P&	' ����
��$
 24 ����.<3 4$,��(
'
�$"$
	%&�4�=�<$?1���J571�3�$=
�<
��1�
��(
DooS
+�K�=�	 D<.)�P&�<�!7
!=0�P�!��<!�!=0���< 4'13�
��(
DooS
>03�<$?1���J57D1, 
�'#!� (��$$/, 2545) 
 
 �
��(
DooS
      �
��(
DooS
0=
� 
��)���03��1 (D<.)�P&�<�!7/�P�!��<!�/���<) 
 (µS/cm/g)        �E(
K��� 25 �<$?1 (���<) 
 

�E(
K���4K,3>03!,��$,
  = 

= 

�������	
��
����	���� = 
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 2.2.5 �
���=30
	5 �(
�<$?1���J57+'=!"4��34$,��(
D�D�,+�0=
3�E(
)�-)5<056K/#<� 
%&�<&)�
<��E�'�<��%J7 100 ��0�7�P?�!7%&�056K/#<� 42 03�
�P$�P&	' ������$
 48 ����.<3 (��$$/ 4$")6", 
2533)  (
��� 4 PE(
 O $" 50 �<$?1  
���E��(
�<$?1���J57%&��=
��
���=30
	54$,�<
%1'0-)�
<30�
<
!��
�!
<��J&�
�+�>,0 2.1.1  
 
 1.2 �	
�$*�'�:�	('��5��#	$3��	
)�*
�'�+&$��,-.����� �!	�#	!3
�
������

�*��
�!.  
   �$#��������	
����%&� 23 J���
)< 2547 +�,4���
�%1$034-- RCB 4$"
���&	-�%&	-)=
�L$&�	%
3'��!�1,�	��J& DMRT <& 4 ��J&�
�  (
��� 4 PE(
 )�0  
    ��J&�
�%&� 1 +�,'
��)<& .1	�03�,�K$5<�$#�1,�	)
�7.-o#�
�K$5<$" 1 ���< 
+'=�5V	 15-15-15 0�!�
)��E3$" 20 ��.$���<!=0D�= %&�0
	5 2 5 4$" 7 '��1
K7K$�3�$#� �S03���4$"
�(
 �14<$31,�	ok.o���$0�!�
 20 P&P&!=0�E(
 20 $�!� L&1�=��<��0<&4<$3��!�#�>,
%(
$
	  
     ��J&�
�%&� 2 +�,�E(
K<���&�/
� 
����-5,3�'<�E(
0�!�
 1:1,000 �1%5� 4 ��� 
.1	�1)��E3$" 40 $�!�!=04�$3  
     ��J&�
�%&� 3 +�,�E(
K<���&�/
� 
����-5,3�'<�E(
0�!�
 1:1,000 �1%5� 7 ���
�=�<��-L&1�=�%5� 4 ��� .1	�1)��E3$" 40 $�!�!=04�$3 4$"L&1�=�)��E3$" 1.9 $�!�!=04�$3 
     ��J&�
�%&� 4 +�,�E(
K<���&�/
� 
����-5,3�'<�E(
0�!�
 1:1,000 L&1�=�%5�  
3 ��� .1	L&1�=�)��E3$" 1.9 $�!�!=04�$3 
   .1	��J&�
�%&� 2 3 4$" 4 �!�&	<�E(
K<���&�/
� 
����-5,3��=��1&	���-�
��N��

�$>03�E(
K<���&�/
� 4$"	��P��<!=0�$�$�!4$")56/
�>03�<$?1���J57�������	
� D1,�E(
K<���&�/
�
'&�E(
!
$�>,< (!
�
3/
)����%&� 1) %&�<&)�
<������1����1=
3 4.41 D�.!�� � o0'o0��' .�4!'�P&	< 
4)$�P&	< 4<��&�P&	< 4$"P�$�o0�7 �%=
��- 0.24  0.03  0.87  1.00  0.15 4$" 0.13 ��0�7�P?�!7 
!
<$(
1�- �'<�E(
0�!�
 1:1,000 +�,�14$"L&1�=�!,��������	
�!
<��J&�
�%&� 2  3 4$" 4 �S03���
�(
 �14<$3��!�#.1	+�,'
�'��1 
�+-	
'#- 100 ���<!=0�E(
 10 $�!� K<�� 24 ����.<3 (<	5�
, 2538) 
L&1�=��<��0<&4<$3��!�#�>,
%(
$
	 '=���
��!�&	<4�$3 �
��$#� �
�1#4$����
 �
�-��%N�>,0<#$  
�
�%1'0-)56/
��<$?1���J57 4$"���)�
"K7J
!50
K
�K$�� 4$"J
!50
K
��03+��<$?1���J57  
%(
��=��1&	���-�
��$�!�<$?1���J57.1	�
��N��
�$>03�E(
K<���&�/
� 4$"	��P��<!=0�$�$�!4$"
)56/
�>03�<$?1���J57�������	
� 
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2.  �	
)�*
� ��&����� �!	��	��'�+&$��,-.�*��
�!. 
  
  �(
�<$?1���J57�������	
� 
��
��N��
�$>03�E(
K<���&�/
� 4$"	��P��<!=0�$�$�!
4$")56/
�>03�<$?1���J57�������	
� 4$"�
�����<�E(
K<���&�/
�+��
��$�!�<$?1���J57�������	
�
/
	+!,�"--���!�0��%�&	7 �$#�����0%1'0-�$�$�!���'1 ���%&� 21 <��5�
	� 2547 4$" ���%&� 5 
<��5�
	� 2548 !
<$(
1�- +�,4���
�%1$034-- RCB �$#� 4 PE(
 +�4�$3>�
1 1 x 5 �<!� 
��,�%
3�1���"K�=
34�$3 50 �P�!��<!� +�,�"	"�$#�50 x 70 �P�!��<!� '=���
��!�&	<4�$3 
�
��$#� 4$"�
�1#4$����
 �}�-�!���=��1&	���-�
��$�!�<$?1���J57�
��N��
�$>03�E(
K<���&�/
� 
4$"	��P��<!=0�$�$�!4$")56/
�>03�<$?1���J57�������	
� 4$"�
��$�!�<$?1���J57.1	�
�����<�E(

K<���&�/
�+��
��$�!�<$?1���J57�������	
�/
	+!,�"--���!�0��%�&	7 
 �
�-��%N�>,0<#$�
�� ��*�!�-.! �$�$�!4$")56/
��$�$�!���'1 
  1. ��0�7�P?�!7!,��$,
�01!
	�<��00
	5 30 ���K$�3�$#� ��- (
���!,��$,

�01!
	�<��00
	5 30 ���K$�3�$#� >03 (
���!,�%�E3K<1!=04�$3     
  2.  (
������%01	01 50 ��0�7�P?�!7 ��- (
������%&�<& (
���!,�>03
�������	
�%&�%01	01 50 ��0�7�P?�!7 >03 (
���!,�%�E3K<1!=04�$3 
  3.  (
������00�10� 50 ��0�7�P?�!7 ��- (
������%&�<& (
���!,��������	
�
%&�00�10� 50 ��0�7�P?�!7 >03 (
���!,�%�E3K<1!=04�$3  
  4. !,���?-��&�	��$�$�!���'1 ��- (
���!,��������	
�%&��01!
	K$�3��?-
��&�	����'1�'�?  1 ��� >03 (
���!,�%�E3K<1!=04�$3 
  5. !,�����.�)!
	 ��- (
���!,�%&�����.�)�K&�	� (wilt)  
����E0 Sclerotium 
sp. !
	!$01n1#�$#� >03 (
���!,�%�E3K<1!=04�$3 
  6. !,�%&��#�4<$3%(
$
	 ��- (
���!,�%&��#�4<$3���� 
"$(
!,�%(
$
	K$�3
30� ��N3�"	"00�10� >03 (
���!,�%�E3K<1!=04�$3 
  7. 0
	5��?-��&�	����'1 ��- (
������%&�����<��?-��&�	����'1)��E34��  
  8. �$�$�!���'1 ��?-��&�	����'1%5���� ���3�E(
K�����<>03���'1%&�<&)56/
�
!�3!
<)�
<!,03�
�>03!$
1 %�E3'&��� )�
<	
���� 4$">�
1��� ��<%�E3��
� 
��0	!(
K�� 
�
'/
�4�1$,0< .�)4$"4<$3 +�4!=$"��J&�
� �(
<
)(
��6�$�$�!���1&4$"����'&	!=0D�= 4$"�(
���
1&���)�
"K7'
�!�),
3>03'
��)<&�$5=< carbamate (��
	-���
�K,03�}�-�!��
�'�
-��0
K
�) J
!5
0
K
�K$�� J
!50
K
��03 4$"�',�+	+����'1 (AOAC, 1990) 
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  9. )56/
�>03�$�$�!���'1 -��%N�)�
<	
� �E(
K��� 4$"'&��� .1	+�,
'<51�%&	-'&>03 The Royal Horticultural Society, London  
 
3.  <=��	
���-��	
)�*
�'�+&$��,-.%��� ��&�������� �!	�  
   
  ���)�
"K7!,�%5��
��$�!�<$?1���J57 
��
��N��
�$>03�E(
K<���&�/
� 4$"     
	��P��<!=0�$�$�!4$")56/
�>03�<$?1���J57�������	
� �
�����<�E(
K<���&�/
�+��
��$�!�<$?1���J57
�������	
�/
	+!,�"--���!�0��%�&	7 4$" 
��
��$�!���'1+�>,0%&� 2 .1	!,�%5��
��$�!4-=3!
<
$���6">03)=
+�, =
	1�3�&E 
 3.1 !,�%5����4��  
  3.1.1 )=
��'15 D1,4�= )=
�<$?1���J57 �5V	)0� �5V	�)<& �E(
<�����E0��$�3 )=
��'15'�E���$�03
0���O %&�<&0
	5�
�+�,3
�!�(
��=
 1 �@ .1	+�,�
)
 (
K�=
	+�0(
�/0K
1+K*=  �3K��1'3>$
 �@ 2547 
������6�7+��
�)(
��6 ��=� �<$?1���J57�������	
����J57)�1-<.0.  (
K�=
	��.$���<$" 400 -
% 4$"
�<$?1���J57�������	
�0��%�&	7��.$���<$" 1,200 -
% (�<$?1���J570��%�&	7<&�
)
4�3��=
�<$?1���J57
%���D� 3 �%=
!��) )=
�5V	)0�!��$" 3,000 -
% ����!,� 
  3.1.2 )=
4�33
� �
���"�<��)=
4�33
�)�1!
<0�!�
)=
 ,
3�����
	��� (8 ����.<3)  
>�E�!�(
���$" 133 -
% >03 �@ 2547 %�E3�
��$�!+��"--���!�0��%�&	74$"�
��$�!%&�+�,'
��)<&  
  3.1.3 )=
�#,)�-)5<4�$3+�,�5{����**
!�&�1�0�$" 8,000 -
% �-&E	�$&E	3�1�0�$" 1,000 
-
% �E(
<�����1�0�$" 1,500 -
% �#,)�-)5<4�$3 1 )� 1#4$4�$3���!��� 20-25 �
	 
(���!����$#��
	$" 1 D�=) .1	+�,��6�70�!�
 ,
3+� �@ 2548 >03-����%0
1�<'7 �0?��!0�7D���P' 
 (
��1  
  3.1.4 )=
10��-&E	�3���#, (�"	"'�E�) )�110��-&E	+K,��-!,�%5����4��%�E3K<1%&������3��'1 
+�0�!�
10��-&E	�3���#,>03J�
)
�����0�
����!�4$"'K��67�
����!� !
<0
	5�
���
"�$#�
�������	
� .1	!�E3'<<5!��
��=
 ���!��� "!,03�#,�3��<
+�,'(
K��-)=
+�, =
	%&�����!,�%5����4��%&�
�����3��'1 PN�3)�1+�0�!�
�,0	$" 11.00 !=0�@ �L$&�	!
<0
	5�������	
�PN�3�(
K�10
	5�$#�D�, 4 
�1�0�!=0�
��$#� 1 �5=� 
  3.1.5 )=
�'&	.0�
'�3��$3%5� )(
��6)=
10��-&E	+K,��-)=
+�, =
	���4��%&�D<=�����3��'1
%�E3K<1!
<0�!�
10��-&E	�3���
���" (
 1 �@ >03J�
)
�����0�
����!�4$"'K��67�
����!� 
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4$"!
<0
	5>03�������	
� .1	��"�<��+�0�!�
�,0	$" 8.50 !=0�@ �L$&�	!
<0
	5�������	
�PN�3
�(
K�10
	5��
"�$#�D�, 4 �1�0�!=0�
��$#� 1 �5=� 
 3.2 !,�%5�)3%&� ����)=
�'��0<�)���03<�005���67 %&�<&0
	5�
�+�,3
�<
���=
 1 �@ D1,4�= ��3L&1
�=�'
��)<& D<,),
3���� +�,��J&�
�)(
��64--�',�!�3 (Straight line method) (%03.� �7, 2530) 
1�3'#!� 
 

<#$)=
4��P�E005���67�
����!� � <#$)=
P
� 
            0
	5�
�+�,3
� (�@) 

 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 

)=
�'��0<05���67�
����!�!=0�@ = 
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����� 3 
 

)� 
 
1. �	
)�*
�'�+&$��,-.����� �!	�3�
������

�*��
�!. 
  1.1 �	
��
*>�
*�?
 
       
��
��$�!�<$?1���J57�������	
�/
	+!,�"--���!�0��%�&	7 .1	+�,�E(
K<���&�/
� 
	��P��< 4$"�E(
K<���&�/
��=�<��-	��P��< ���&	-�%&	-��-�
�+�,'
��)<& �-�=
 !,��������	
� 
�%5�
��J&�
�<&�
�� ��*�!�-.!D<=4!�!=
3%
3'��!� (!
�
3%&� 1 4$" 2) .1	<&!,��$,
�01!
	%&�0
	5 30 
���K$�3�$#� 0	#=+��=�3 75.42-83.33 ��0�7�P?�!7 <&�
�%01	01>NE�),
3 50 ��0�7�P?�!7�<��00
	5 21-22 
���K$�3�$#� .1	�
��$�!%&�+�,'
��)<& 4$"	��P��< %01	01��?���=
�
��$�!%&�+�,�E(
K<���&�/
� 
4$"�E(
K<���&�/
��=�<��-	��P��< 1 ��� <&0
	500�10� 50 ��0�7�P?�!7 41 ���K$�3�$#��%=
��� ����<��?-
��&�	��<$?1���J57)��E34���<��0!,��������	
�0
	5 53 ���K$�3�$#� <& (
���!,�%&���?-��&�	��$�$�!�<$?1
���J57D1, 70.21-75.83 ��0�7�P?�!7 4$"!,��������	
�����.�)�K&�	�!
	%&����1 
����E0 Sclerotium 
sp. 0	#=+��=�3 26.05-29.79 ��0�7�P?�!7  
 
!
�
3%&� 1 !,��$,
�01!
	0
	5 30 ��� ���%01	01 50 ��0�7�P?�!7 4$"���00�10� 50 ��0�7�P?�!7
 >03�������	
�%&��$#�.1	+�,'
��)<&4$"�"--���!�0��%�&	7 

��J&�
� 
!,��$,
�01!
	
0
	5 30 ��� (%) 

���%01	01 
50%(���) 

���00�10�50% 
(���) 

'
��)<& 
�E(
K<���&�/
�  
	��P��< 
�E(
K<���&�/
�/	��P��< 

78.54 
83.33 
81.46 
75.42 

21.00 
22.00 
21.00 
22.00 

41.00 
41.00 
41.00 
41.00 

F-test ns ns ns 
C.V. (%) 14.81 2.64 1.79 
ns D<=4!�!=
3%
3'��!� 
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!
�
3%&� 2 0
	5��?-��&�	�)��E34�� !,���?-��&�	��$�$�! 4$"!,�����.�)�K&�	�!
	>03�������	
�%&�  
 �$#�.1	+�,'
��)<&4$"�"--���!�0��%�&	7 

��J&�
� 
0
	5��?-��&�	� 
)��E34�� (���) 

!,���?-��&�	��$�$�! 
(%) 

!,�����.�) 
�K&�	�!
	 (%) 

'
��)<& 
�E(
K<���&�/
�  
	��P��< 
�E(
K<���&�/
�/	��P��< 

53.00 
53.00 
53.00 
53.00 

71.46  
75.83 
73.96 
70.21 

28.54 
28.34 
26.05 
29.79 

F-test ns ns ns 
C.V. (%) 1.03 18.18 46.57 
ns D<=4!�!=
3%
3'��!� 
 
 1.2 )�)�*
�'�+&$��,-. 
  �
��$�!%&�+�,'
��)<&%(
+K,�������	
�+K,�$�$�!�<$?1���J57'#3'51 90 ��.$���<!=0D�= 
(!
�
3%&� 3) '#3��=
�
��$�!%&�+�,�E(
K<���&�/
� 	��P��< 4$"�E(
K<���&�/
��=�<��-	��P��< %&�+K,�$
�$�!�<$?1���J57 40 31 4$" 30 ��.$���<!=0D�= !
<$(
1�- .1	+K,�$�$�!!�(
��=
�
�+�,'
��)<& 50  
58  4$" 60 ��.$���<!=0D�= !
<$(
1�- �
��$�!�<$?1���J571,�	�
�+�,�E(
K<���&�/
�������J&�
�%&�
�������	
�+K,�$�$�!�<$?1���J57'#3��=
0&� 2 ��J&�
� �
��$�!%&�+�,�E(
K<���&�/
��=�<��-	��P��< %(
+K,
�������	
�<&�<$?1���J57�'&	 1 ��.$���<!=0D�= (!
�
3%&� 3) !�(
��=
�
��$�!%&�+�,�E(
K<���&�/
�	��P��< 
4$"�
�+�,'
��)<&%&��������	
�+K,�<$?1���J57�'&	 2 ��.$���<!=0D�=�%=
��� PN�3D<=4!�!=
3%
3'��!� 4$"
�<��0)�1������0�7�P?�!7�$�$�!�<$?1���J57�'&	 �-�=
 �
��$�!%&�+�,'
��)<&�������	
�+K,��0�7�P?�!7�<$?1
���J57�'&	!�(
'51 )�0 2.26 4!�!=
3%
3'��!��-�
��$�!%&�+�,�E(
K<���&�/
� 	��P��< 4$"�E(
K<��
�&�/
��=�<	��P��< %&��������	
�+K,��0�7�P?�!7�$�$�!�<$?1���J57�'&	 5.00  6.97  4.26 !
<$(
1�- 
.1	�
��$�!%&�+�,	��P��<�������	
�+K,��0�7�P?�!7�$�$�!�<$?1���J57�'&	'#3'51 
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!
�
3%&� 3 �$�$�!�<$?1���J571& �$�$�!�<$?1���J57�'&	 4$"��0�7�P?�!7�$�$�!�<$?1���J57�'&	>03 
 �������	
�%&��$#�.1	+�,'
��)<&4$"�"--���!�0��%�&	7 

��J&�
� 
�$�$�!�<$?1���J571& 

(��./D�=) 
�$�$�!�<$?1���J57
�'&	 (��./D�=) 

��0�7�P?�!7�$�$�!�<$?1
���J57�'&	  

'
��)<& 
�E(
K<���&�/
� 
	��P��< 
�E(
K<���&�/
�/	��P��< 

90 a 
40 b 
31 b 
30 b 

2 a 
2 a 
2 a 
1 b 

2.26 c 
5.00 b 
6.97 a 
4.26 b 

F-test * * * 
C.V. (%) 29.66 21.92 26.42 
* 4!�!=
3%
3'��!� 
)=
�L$&�	+�)0$�<�7�1&	����%&�<&0����!=
3��� 4!�!=
3%
3'��!� 
��
����)�
"K74-- DMRT 
 
 1.3 0-�#	$�	��	!#	$����'�+&$��,-. 
     �<$?1���J57�������	
� 
�%5���J&�
��$�!<&)56/
�%
3�
	/
�D<=4!�!=
3%
3'��!� 
(!
�
3%&� 4) �<$?1���J57<&)�
<��,
34$")�
<	
�0	#=+��=�3 0.53-0.56 4$" 1.04-1.08 �P�!��<!� 
!
<$(
1�- �E(
K��� 100 �<$?1%&�)�
<��E��<$?1���J57 9 ��0�7�P?�!7 0	#=+��=�3 13.86-14.24 ���< 
4$"�E(
K���4K,3>03�<$?1���J570	#=+��=�3 128.54-131.90 <�$$����<!=0�<$?1 .1	�<$?1���J57%&��$�!
1,�	�E(
K<���&�/
�<&>�
1�<$?1���J57 �E(
K��� 100 �<$?1 4$"�E(
K���4K,3>03�<$?1���J57'#3��=

�<$?1���J57%&��$�!.1	��J&�
�0��� O 
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!
�
3%&� 4 >�
1>03�<$?1 �E(
K��� 100 �<$?1 4$"�E(
K���4K,3>03�<$?1���J57�������	
�%&��$#� 
 .1	+�,'
��)<&4$"�"--���!�0��%�&	7 

>�
1>03�<$?1(P<.) 
��J&�
� 

��,
3 	
� 
�E(
K��� 100 �<$?1 

(���<) 

�E(
K���4K,3>03 
�<$?1���J57 
(<�./�<$?1) 

'
��)<& 
�E(
K<���&�/
� 
	��P��< 
�E(
K<���&�/
�/	��P��<  

0.55 
0.56 
0.53 
0.54 

1.05 
1.08 
1.06 
1.04 

13.86 
14.24 
14.08 
14.06 

128.54 
131.90 
130.41 
130.39 

F-test ns ns ns ns 
C.V. (%) 3.08 10.77 1.74 1.69 
ns D<=4!�!=
3%
3'��!� 
 
 1.4 0-�#	$�	��
�
�*�!	����'�+&$��,-. 
  1.4.1 0�	'���    
    �<$?1���J57%&�D1, 
�%5���J&�
��$�!<&)�
<30�<
!��
�4$")�
<30�+�1��D<=
4!�!=
3%
3'��!� (!
�
3%&� 5) .1	<&)�
<30�<
!��
�'#30	#=+��=�3 97.00-98.00 ��0�7�P?�!7 �<$?1
���J57%&�D1, 
��
��$�!%&�+�,	��P��< 4$"�E(
K<���&�/
��=�<��-	��P��<<&)�
<30� 98.00 ��0�7�P?�!7
�%=
��� PN�3<&)�
<30�'#3��=
�
��$�!%&�+�,'
��)<& 4$"�E(
K<���&�/
�%&��<$?1���J57<&)�
<30� 97.00 
4$" 97.50 ��0�7�P?�!7 !
<$(
1�- �<$?1���J57�������	
� 
�%5���J&�
��$�!%&���
"+�1��<&)�
<30�
'#3+��=�3 99.50-100.00 ��0�7�P?�!7 (!
�
3%&� 5) .1	�<$?1���J57%&�D1, 
��
��$�!%&�+�,'
��)<&4$"
�E(
K<���&�/
�<&)�
<30�+�1�� 100.00 ��0�7�P?�!7 '=���
��$�!%&�+�,	��P��< 4$"�E(
K<���&�/
�
�=�<��-	��P��<�<$?1���J57<&)�
<30�+�1�� 99.50 ��0�7�P?�!7 
  1.4.2 &�5��0�	'�
+�3��	
���3�&*� 
     �<$?1���J57%&��$�! 
�%5���J& <&1���&)�
<��?�+��
�30�+�1��+�$,�)&	3��� 0	#=
+��=�3 33.16-33.33 (!
�
3%&� 5) �<$?1���J57%&�D1, 
��
��$�!%&�+�,'
��)<& 4$"�E(
K<���&�/
�<&1���&
)�
<��?�+��
�30� 33.33 '=���
��$�!%&�+�,	��P��< 4$"�E(
K<���&�/
��=�<��-	��P��<�<$?1���J57<&
1���&)�
<��?�+��
�30� 33.16 4$" 33.20 !
<$(
1�- 
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  1.4.3 0�	'!	�!�&%��0�	'!	�
	����
�����	 
    �<$?1���J57%&�D1, 
��
��$�!%&�+�,'
��)<&+K,!,��$,
%&�<&)�
<	
�	014$")�
<
	
��
�'#3'51 14.60 4$" 19.16 �P�!��<!�!=0!,� !
<$(
1�- (!
�
3%&� 5) '#3��=
�<$?1���J57%&��$�!
.1	+�,�E(
K<���&�/
� 	��P��< 4$"�E(
K<���&�/
��=�<��-	��P��< %&��<$?1���J57+K,!,��$,
%&�<&)�
<
	
�	01 12.88 8.93 4$" 11.94 �P�!��<!�!=0!,� !
<$(
1�- 4$")�
<	
��
� 17.20 14.68 
4$" 16.75 �P�!��<!�!=0!,� !
<$(
1�- .1	�<$?1���J57%&��$�!.1	+�,	��P��< +K,!,��$,
<&)�
<	
�
	014$")�
<	
��
�!�(
'51  
 
!
�
3%&� 5 )�
<30�<
!��
� )�
<30�+�1�� 1���&)�
<��?�+��
�30� 4$")�
<	
�	01 
 4$")�
<	
��
�>03�<$?1���J57�������	
�%&��$#�.1	+�,'
��)<&4$"�"--���!� 
 0��%�&	7 

��J&�
� 
)�
<30�
<
!��
� 

(%) 

)�
<30�
+�1��  
(%) 

1���&
)�
<��?�+�
�
�30� 

)�
<	
�
	01 

(P<./!,�) 

)�
<	
�
�
� 

(P<./!,�) 
'
��)<& 
�E(
K<���&�/
� 
	��P��< 
�E(
K<���&�/
�/	��P��<  

97.00 
97.50 
98.00 
98.00 

100.00 
100.00 
  99.50 
  99.50 

33.33 
33.33 
33.16 
33.20 

14.60 a 
12.88 b 
  8.93 c 
11.94 b 

19.16 a 
17.20 b 
14.68 c 
16.75 b 

F-test ns ns ns * * 
C.V. (%) 2.03 0.71 0.63 10.41 6.09 
ns D<=4!�!=
3%
3'��!� 
* 4!�!=
3%
3'��!� 
)=
�L$&�	+�)0$�<�7�1&	����%&�<&0����!=
3��� 4!�!=
3%
3'��!� 
��
����)�
"K74-- DMRT 
 
  1.4.4 �:�	(���%(�����
�����	  
    �<$?1���J57%&��$�! 
��E(
K<���&�/
�+K,!,��$,
%&�<&�E(
K���4K,3!=0!,�'#3'51 )�0 
76.00 <�$$����< (!
�
3%&� 6) D<=4!�!=
3��-�<$?1���J57%&��$�!.1	+�,'
��)<& 4$"�E(
K<���&�/
�
�=�<��- 	��P��<%&�+K,!,��$,
%&�<&�E(
K���4K,3!=0!,� 73.21 4$" 74.25 <�$$����< !
<$(
1�- '#3��=

�<$?1���J57%&��$�! 
��
�+�,	��P��<+K,!,��$,
%&�<&�E(
K���4K,3!=0!,�!�(
'51 67.98 <�$$����< 
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!
�
3%&� 6 �E(
K���4K,3>03!,��$,
 �
��(
DooS
 4$")�
<30�K$�3�
���=30
	5>03�<$?1���J57  
 �������	
�%&��$#�.1	+�,'
��)<&4$"�"--���!�0��%�&	7 

��J&�
� 
�E(
K���4K,3>03
!,��$,
 (<�./!,�) 

�
��(
DooS
 
(D<.)�P&�<�!7/P<./���<) 

)�
<30�K$�3 
�
���=30
	5(%) 

'
��)<& 
�E(
K<���&�/
� 
	��P��< 
�E(
K<���&�/
�/	��P��<  

73.21 a 
76.00 a 
67.98 b 
74.25 a 

28.21 
28.31 
27.92 
28.22 

 93.50 ab 
92.50 b 
90.50 b 
98.00 a 

F-test * ns * 
C.V. (%) 3.33 6.20 3.50 
ns D<=4!�!=
3%
3'��!� 
* 4!�!=
3%
3'��!� 
)=
�L$&�	+�)0$�<�7�1&	����%&�<&0����!=
3��� 4!�!=
3%
3'��!� 
��
����)�
"K74-- DMRT 
 
 1.4.5 �	
��	�@@A	 
   �<$?1���J57 
�%5���J&�
��$�!<&�
��(
DooS
D<=4!�!=
3��� 0	#=+��=�3 27.92-
28.31 D<.)�P&�<�!7!=0�P�!��<!�!=0���< (!
�
3%&� 6) �
��$�!%&�+�,	��P��<D1,�<$?1���J57<&�
��(
DooS
 
27.92 D<.)�P&�<�!7!=0�P�!��<!�!=0���< !�(
��=
�<$?1���J57%&��$�!.1	+�,'
��)<& �E(
K<���&�/
� 
4$"�E(
K<���&�/
��=�<��-	��P��<%&��<$?1���J57<&�
��(
DooS
 28.21 28.31 4$" 28.22 D<.)�
P&�<�!7!=0�P�!��<!�!=0���< !
<$(
1�- 
 1.4.6 0�	'���(����	
�
;��	!-  
   �<$?1���J57�������	
� 
��
��$�!%&�+�,�E(
K<���&�/
��=�<��-	��P��< <&)�
<
30�K$�3�
���=30
	5'#3'51 98.00 ��0�7�P?�!7 (!
�
3%&� 6) 4!�!=
3%
3'��!���-�<$?1���J57%&��$�!.1	
+�,�E(
K<���&�/
� 4$"	��P��< %&�<&)�
<30�K$�3�
���=30
	5 92.50 4$" 90.50 ��0�7�P?�!7 
!
<$(
1�- '=���
��$�!%&�+�,'
��)<&�<$?1���J57<&)�
<30�K$�3�
���=30
	5D<=4!�!=
3%
3'��!���-
�<$?1���J57%&��$�!.1	��J&�
�0��� O %&�<&)�
<30�K$�3�
���=30
	5 93.50 ��0�7�P?�!7 4'13�=
�<$?1
���J57%&��$�!.1	+�,�E(
K<���&�/
��=�<��-	��P��<'
<
����?-����
D�,D1,1&��=
�<$?1���J57 
��
��$�!
��J&�
�0��� 
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 1.4.7 �	
�0'�
�0�	�%��,	
-�	(	
3��'�+&  
   �<��0�(
�<$?1���J57 
��
��$�!%&�+�,'
��)<&<
���)�
"K7'
��$5=< carbamate 
D<=�-'
�!�),
3 4$"�<$?1���J57%&��$�!+��"--���!�0��%�&	7%�E3 3 ��J&�
� 4$"�
�+�,'
��)<& <&
D�.!�� � o0'o0��' .�4!'�P&	< 4)$�P&	< 4<��&�P&	< 4$"P�$�o0�7+�$,�)&	3��� 1�3!
�
3%&� 7 
4'13�=
�
��$�!�<$?1���J57 
��"--���!�0��%�&	7 �<$?1���J57�������	
�<&J
!50
K
�D1,+��"1�-
�1&	���-�
��$#�.1	+�,'
��)<& 
 
!
�
3%&� 7 ���<
6J
!50
K
�+��<$?1���J57�������	
�%&��$#�.1	+�,'
��)<&4$"�"--���!�0��%�&	7 

���<
6J
!50
K
�+��<$?1���J57 (<�./��.) ��J&�
� 
N P K Ca Mg S 

'
��)<& 
�E(
K<���&�/
�  
	��P��< 
�E(
K<���&�/
�/	��P��< 

4.57 
4.61 
4.58 
4.56 

0.54 
0.57 
0.56 
0.58 

1.33 
1.30 
1.39 
1.34 

0.07 
0.06 
0.07 
0.07 

0.16 
0.16 
0.17 
0.17 

0.17 
0.17 
0.15 
0.16 

 
2. �	
)�*
� ��&����� �!	��	��'�+&$��,-.�*��
�!.%���	
35��	
�0'�  
 2.1 �	
��
*>�
*�?
 
   �<$?1���J57 
��
��$�!+��"--���!�0��%�&	7 .1	+�,�E(
K<���&�/
� 	��P��< 4$"�E(

K<���&�/
��=�<��-	��P��< 4$"�
�+�,'
��)<& %&��$#�����0�$�!���'1 �-�=
 !,��������	
�%&��$#�
 
��<$?1���J57%&��$�! 
�%5���J&�
�<&�
�� ��*�!�-.!D<=4!�!=
3%
3'��!� (!
�
3%&� 8 4$" 9) .1	<&!,�
�$,
�01!
	%&�0
	5 30 ���K$�3�$#�0	#=+��=�3 94.31-97.81 ��0�7�P?�!7 <&�
�%01	01>NE�),
3 50 
��0�7�P?�!7�<��00
	5 20 ���K$�3�$#� 00�10� 50 ��0�7�P?�!7�<��00
	5 40 ���K$�3�$#��%=
��� ����<��?-
��&�	��$�$�!���'1)��E34���<��0!,��������	
�0
	5 48 ���K$�3�$#� <&!,���?-��&�	����'1D1,+��=�3 
94.06-96.88 ��0�7�P?�!7 4$"<&!,�����.�)�K&�	�!
	%&����1 
����E0 Sclerotium sp. )=0�>,
3�,0	0	#=
+��=�3 2.19-5.31 ��0�7�P?�!7  
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!
�
3%&� 8 !,��$,
�01!
	0
	5 30 ��� ���%01	01 50 ��0�7�P?�!7 4$"���00�10� 50 ��0�7�P?�!7 
 >03�������	
� 
��<$?1���J57%&��$�! 
��
�+�,'
��)<&4$"�"--���!�0��%�&	7 

4K$=3�<$?1���J574$"
��J&�
��$�! 

!,��$,
�01!
	
0
	5 30 ��� (%) 

���%01	01 50% 
(���) 

���00�10� 50%  
(���) 

'
��)<& 
�E(
K<���&�/
� 
	��P��< 
�E(
K<���&�/
�/	��P��< 

97.81 
94.31 
95.00 
95.62 

20.00 
20.00 
20.00 
20.00 

40.00 
40.00 
40.00 
40.00 

F-test ns ns ns  
C.V. (%) 3.54 1.93 1.43 
ns D<=4!�!=
3%
3'��!� 
 
!
�
3%&� 9  0
	5��?-��&�	� !,���?-��&�	��$�$�! 4$"!,�����.�)�K&�	�!
	>03�������	
� 
��<$?1 
                  ���J57%&��$�! 
��
�+�,'
��)<&4$"�"--���!�0��%�&	7 

4K$=3�<$?1���J57 
4$"��J&�
��$�! 

0
	5��?-��&�	� 
(���) 

!,���?-��&�	��$�$�! 
(%) 

!,�����.�)�K&�	�!
	 
(%) 

'
��)<& 
�E(
K<���&�/
�  
	��P��< 
�E(
K<���&�/
�/	��P��< 

48.00 
48.00 
48.00 
48.00 

96.88 
94.06 
94.06 
96.88 

2.19 
5.31 
5.00 
2.50 

F-test ns ns ns 
C.V. (%) 1.00 3.00 89.58 
ns D<=4!�!=
3%
3'��!� 

 
 2.2 )�)�*
� ��& 
 �<$?1���J57%&��$�! 
��"--���!�0��%�&	7 4$"�
�+�,'
��)<& +K,�$�$�!���'1D<=
4!�!=
3%
3'��!� (!
�
3%&� 10) .1	����<��?-���'1D1,K$�3 
�10�-
� 10 ��� '
<
����?-��&�	�
���'1D1,�
� 22 ��� <&�$�$�!�������1&%&� (
K�=
	D1, .1	�<$?1���J57%&��$�! 
��
�+�,�E(
K<��
�&�/
�+K,�$�$�!���1&'#3'51 2,171 ��.$���<!=0D�= '#3��=
�
��$�!%&�+�,'
��)<& 	��P��< 4$"�E(
K<��
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�&�/
��=�<��-	��P��< 92 277 4$" 325 ��.$���<!=0D�= !
<$(
1�- +�>6"�<$?1���J57�������	
�%&�
�$�!.1	+�,'
��)<&<&����'&	!�(
��=
�<$?1���J57 
��
��$�!.1	+�,	��P��< 7 ��.$���<!=0D�= 4!='#3��=

�������	
�%&��$#�1,�	�<$?1���J57%&��$�!1,�	�E(
K<���&�/
� 4$"1,�	�E(
K<���&�/
��=�<��-	��P��< 20 
4$" 2 ��.$���<!=0D�= !
<$(
1�- 4$"�<��0)�1������0�7�P?�!7�$�$�!�<$?1���J57�'&	 �-�=
 �<$?1���J57
 
��
��$�!%&�+�,'
��)<& �E(
K<���&�/
� 	��P��< 4$"�E(
K<���&�/
��=�<	��P��< �������	
�+K,��0�7�P?�!7
�$�$�!�<$?1���J57�'&	 13.20  11.73  14.84 4$" 14.79 !
<$(
1�-  
 
!
�
3%&� 10 �$�$�!���1& �$�$�!����'&	 4$"��0�7�P?�!7�$�$�!����'&	>03�������	
� 
��<$?1���J57 
 %&��$�! 
��
�+�,'
��)<&4$"�"--���!�0��%�&	7 

4K$=3�<$?1���J57 
4$"��J&�
��$�! 

�$�$�!���1&  
(��./D�=) 

�$�$�!����'&	  
(��./D�=) 

��0�7�P?�!7�$�$�!
����'&	  

'
��)<& 
�E(
K<���&�/
�  
	��P��< 
�E(
K<���&�/
�/	��P��< 

2,079 
2,171 
1,894 
1,846 

275 
255 
281 
273 

13.20 
11.73 
14.84 
14.79 

F-test ns ns ns 
C.V. (%) 12.82 19.33 18.87 
ns D<=4!�!=
3%
3'��!� 
 
 2.3 0-�#	$���)�)�*
� ��& 
 �������	
�%&��$�!.1	+�,�E(
K<���&�/
�+K,���%&�<&)�
<	
� 63.49 �P�!��<!� (!
�
3%&� 11) 
D<=4!�!=
3%
3'��!���-�������	
�%&��$�!.1	+�,'
��)<&+K,���<&)�
<	
� 63.08 �P�!��<!� 4!=	
�
��=
���%&��$�!.1	+�,	��P��< 4$"+�,�E(
K<���&�/
��=�<��-	��P��< %&�+K,���	
� 61.31 4$" 61.51 
�P�!��<!� !
<$(
1�- ��� 
�%5���J&�
��$�!<&�E(
K���D<=4!�!=
3%
3'��!� (!
�
3%&� 11) ���'1%&�D1,
 
��
��$�!%&�+�,'
��)<&<&�E(
K��� 24.46 ���<!=0��� <
���=
���%&�D1, 
��
��$�!.1	+�,�E(
K<��
�&�/
� 	��P��< 4$"�E(
K<���&�/
��=�<��-	��P��< %&�<&�E(
K��� 22.71 20.89 4$" 21.38 ���< 
!
<$(
1�- �������	
� 
�%5���J&�
��$�!+K,���<&'&+��$5=<'&�>&	��-0�7 143C (Green group # 143 C) 
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!
�
3%&� 11 )�
<	
���� �E(
K���!=0��� 4$"'&���>03�������	
� 
��<$?1���J57%&��$�! 
��
�+�,  
 '
��)<&4$"�"--���!�0��%�&	7 

4K$=3�<$?1���J574$"
��J&�
��$�! 

)�
<	
���� 
(P<.) 

�E(
K���!=0��� 
(���<) 

'&��� 

'
��)<& 
�E(
K<���&�/
�  
	��P��< 
�E(
K<���&�/
�/	��P��< 

63.08 a 
63.49 a 
 61.31 b 
 61.51 b 

24.46 
22.71 
20.89 
21.38 

143C 
143C 
143C 
143C 

F-test * ns  - 
C.V. (%) 1.11 11.28 - 
ns D<=4!�!=
3%
3'��!� 
* 4!�!=
3%
3'��!� 
)=
�L$&�	+�)0$�<�7�1&	����%&�<&0����!=
3��� 4!�!=
3%
3'��!� 
��
����)�
"K74-- DMRT  
'&���+�,'<51�%&	-'&>03 The Royal Horticultural Society, London  
 
 2.4 �	
�0'�
�0�	�%��,	
-�	(	
3�� � 
   �(
���'1 
��
��$�!%&�+�,'
��)<& <
���)�
"K7'
��)<&�$5=< carbamate D<=�-'
�
!�),
3 4$"���'1%&��$�!+��"--���!�0��%�&	7%�E3 3 ��J&�
� 4$"�
�+�,'
��)<& <&D�.!�� � 
o0'o0��' .�4!'�P&	< 4)$�P&	< 4<��&�P&	< P�$�o0�7 4$"�',�+	+�$,�)&	3��� 1�3!
�
3%&� 12 
4'13�=
�
��$�!���'1 
��"--���!�0��%�&	7 ����������	
�<&J
!50
K
�D1,+��"1�-�1&	���-�
�
�$#�.1	+�,'
��)<& 
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!
�
3%&� 12 ���<
6J
!50
K
�4$"�',�+	>03���'1�������	
� 
��<$?1���J57%&��$�! 
��
�+�, 
 '
��)<&4$"�"--���!�0��%�&	7 

���<
6J
!50
K
�4$"�',�+	+����'1 (<�./��.) 4K$=3�<$?1���J574$"
��J&�
��$�! N P K Ca Mg S Crude fiber 

'
��)<& 
�E(
K<���&�/
�  
	��P��< 
�E(
K<���&�/
�/	��P��< 

4.14 
4.21 
4.12 
4.10 

0.47 
0.48 
0.47 
0.49 

2.19 
2.17 
2.22 
2.27 

0.41 
0.47 
0.38 
0.45 

0.27 
0.29 
0.26 
0.28 

0.22 
0.23 
0.20 
0.25 

10.87 
10.81 
11.26 
10.65 

    
3. )�����*,��	
�$*�'�:�	('��5��#	$3��	
)�*
�'�+&$��,-.����� �!	�#	!3
�
������


�*��
�!.  
 3.1 �	
��
*>�
*�?
 
      �
�����<���<
6�
�+K,�E(
K<���&�/
�+��
��$�!�<$?1���J57+��"--���!�0��%�&	7 
.1	+K,�E(
K<���&�/
�1,�	�
��1%5� 4 ��� �
��1%5� 7 ����=�<��-�
�L&1�=�%5� 4 ��� 4$"�
�L&1
�=�%5� 3 ��� ���&	-�%&	-��-�
�+�,'
��)<& �-�=
 !,��������	
� 
�%5���J&�
�<&�
�� ��*�!�-.!D<=
4!�!=
3%
3'��!� (!
�
3%&� 13 4$" 14) .1	<&!,��$,
�01!
	%&�0
	5 30 ���K$�3�$#�0	#=+��=�3 
88.10-94.20 ��0�7�P?�!7 <&�
�%01	01>NE�),
3 50 ��0�7�P?�!7 �<��00
	5 32-33 ���K$�3�$#� �
�+�,
�E(
K<���&�/
��1%5� 4 ��� 4$"�
��1%5� 7 ����=�<��-L&1�=�%5� 4 ��� %(
+K,!,��������	
�%01	01
��?���=
�
��$�!0&� 2 ��J&�
� 1 ��� <&0
	500�10� 50 ��0�7�P?�!7 44-45 ���K$�3�$#� �������	
�%&�
+K,�E(
K<���&�/
�L&1�=�%5� 3 ��� 00�10���?���=
�
��$�!0&� 3 ��J&�
� 1 ��� !,��������	
�%5�
��J&�
�%&��$�!����<��?-��&�	��<$?1���J57D1,�<��00
	5 60-61 ���K$�3�$#� �
�+�,�E(
K<���&�/
��1%5� 7 
����=�<��-L&1�=�%5� 4 ��� 4$"�
�L&1�=�%5� 3 ��� '
<
����?-��&�	��<$?1���J57D1,��?���=
�������	
�
%&��$�!.1	+�,�E(
K<���&�/
��1%5� 4 ��� 4$"�
�+�,'
��)<& 1 ��� .1	<& (
���!,�%&���?-��&�	��<$?1
���J57D1,+��=�3 85.94-91.81 ��0�7�P?�!7 �
��$�!%&�+�,�E(
K<���&�/
��1%5� 7 ����=�<��-L&1�=�%5� 
4 ��� 4$"�
�L&1�=�%5� 3 ��� <&!,���?-��&�	��<$?1���J57D1,'#3��=
 90 ��0�7�P?�!7 ����03 
�<&!,�����
.�)�K&�	�!
	%&����1 
����E0 Sclerotium sp. !�(
 9.06 ��0�7�P?�!7 +�>6"%&��
��$�!%&�+�,�E(
K<��
�&�/
��1%5� 4 ��� <&!,��������	
�����.�)�K&�	�!
	'#3'51 14.36 ��0�7�P?�!7  
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!
�
3%&� 13 !,��$,
�01!
	0
	5 30 ��� ���%01	01 50 ��0�7�P?�!7 4$"���00�10� 50 ��0�7�P?�!7
 >03�������	
�%&�+�,'
��)<&4$"�
�+K,�E(
K<���&�/
���J&!=
3 O  

��J&�
� 
!,��$,
�01!
	
0
	5 30 ��� (%) 

���%01	01
50% (���) 

���00�10�
50% (���) 

'
��)<& 
�E(
K<���&�/
��1%5� 4 ��� 
�E(
K<���&�/
��1%5� 7 ���/L&1�=�%5� 4 ��� 
�E(
K<���&�/
�L&1�=�%5� 3 ��� 

88.10 
88.10 
94.20 
93.80 

33.00 
32.00 
32.00 
33.00 

45.00 
45.00 
45.00 
44.00 

F-test ns ns ns 
C.V. (%) 4.04 2.48   3.22   
ns D<=4!�!=
3%
3'��!�  
 
!
�
3%&� 14 0
	5��?-��&�	� !,���?-��&�	��$�$�! 4$"!,�����.�)�K&�	�!
	>03�������	
�%&�+�, '
��)<&
 4$"�
�+K,�E(
K<���&�/
���J&!=
3 O 

��J&�
� 
0
	5��?-��&�	� 

(���) 
!,���?-��&�	�
�$�$�! (%) 

!,�����.�)�K&�	�
!
	 (%) 

'
��)<& 
�E(
K<���&�/
��1%5� 4 ��� 
�E(
K<���&�/
��1%5� 7 ���/L&1�=�%5� 4 ��� 
�E(
K<���&�/
�L&1�=�%5� 3 ��� 

61.00 
61.00 
60.00 
60.00 

87.81 
85.94 
90.63 
91.81 

12.19 
14.36 
  9.06 
  9.06 

F-test ns ns ns 
C.V. (%) 0.87 13.81 105.93 
ns D<=4!�!=
3%
3'��!�  
 
 3.2 )�)�*
�'�+&$��,-. 
   �
��$�!%&�+�,'
��)<&%(
+K,�������	
�+K,�$�$�!'#3'51 160 ��.$���<!=0D�= (!
�
3%&� 
15) D<=4!�!=
3%
3'��!���-�
��$�!%&�+�,�E(
K<���&�/
��1%5� 4 ��� �
��1%5� 7 ����=�<��-L&1�=�%5� 
4 ��� �
�L&1�=�%5� 3 ��� %&�+K,�$�$�!�<$?1���J57 146 138 4$" 133 ��.$���<!=0D�= !
<$(
1�- .1	
+K,�$�$�!!�(
��=
�
�+�,'
��)<& 14  22 4$" 27 ��.$���<!=0D�= !
<$(
1�- �
��$�!�<$?1���J571,�	
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�
�+�,�E(
K<���&�/
��1%5� 4 ��� ������J&�
�%&��������	
�+K,�$�$�!'#3��=
0&� 2 ��J&�
� �
��$�!%&�
+�,�E(
K<���&�/
�L&1�=�%5� 3 ��� %(
+K,�������	
�<&�<$?1���J57�'&	 9 ��.$���<!=0D�= (!
�
3%&� 15) 
!�(
��=
�
��$�!%&�+�,�E(
K<���&�/
��1%5� 4 ��� �
��1%5� 7 ����=�<��-L&1�=�%5� 4 ��� %&��������	
�
+K,�<$?1���J57�'&	 11 ��.$���<!=0D�= 4$"�
�+�,'
��)<& 12 ��.$���<!=0D�= PN�3D<=4!�!=
3%
3'��!� 
4$"�<��0)�1������0�7�P?�!7�$�$�!�<$?1���J57�'&	 �-�=
 �
��$�!%&�+�,�E(
K<���&�/
�1,�	�
��1%5� 
4 ��� �
��1%5� 7 ����=�<��-�
�L&1�=�%5� 4 ��� 4$"�
�L&1�=�%5� 3 ��� 4$"�
�+�,'
��)<& 
�������	
�+K,��0�7�P?�!7�$�$�!�<$?1���J57�'&	7.35  7.83  7.04 4$" 7.41 !
<$(
1�- 
 
!
�
3%&� 15 �$�$�!�<$?1���J571& �$�$�!�<$?1���J57�'&	 4$"��0�7�P?�!7�$�$�!�<$?1���J57�'&	>03 
 �������	
�%&�+�,'
��)<&4$"�
�+K,�E(
K<���&�/
���J&!=
3 O 

��J&�
� 
�$�$�!

�<$?1���J571& 
(��./D�=) 

�$�$�!�<$?1
���J57�'&	 
(��./D�=) 

��0�7�P?�!7
�$�$�!�<$?1
���J57�'&	 

'
��)<& 
�E(
K<���&�/
��1%5� 4 ��� 
�E(
K<���&�/
��1%5� 7 ���/L&1�=�%5� 4 ��� 
�E(
K<���&�/
�L&1�=�%5� 3 ��� 

160 
146 
138 
133 

12 
11 
11 
  9 

7.41 
7.35 
7.83 
7.04 

F-test ns ns ns 
C.V. (%) 13.31 18.09 18.58 
ns D<=4!�!=
3%
3'��!�  
 
 3.3 0-�#	$�	��	!#	$����'�+&$��,-. 
   �<$?1���J57�������	
� 
�%5���J&�
��$�!+K,)56/
�%
3�
	/
�D<=4!�!=
3%
3
'��!� (!
�
3%&� 16) �<$?1���J57<&)�
<��,
34$")�
<	
�0	#=+��=�3 0.54-0.55 4$" 1.00-1.16 
�P�!��<!� !
<$(
1�- �E(
K��� 100 �<$?1%&�)�
<��E�>03�<$?1���J57 9 ��0�7�P?�!7 0	#=+��=�3 14.29-
14.37 ���< 4$"�E(
K���4K,3>03�<$?1���J570	#=+��=�3 131.35-132.01 <�$$����<!=0�<$?1 �<$?1���J57
%&��$�!1,�	�
�+�,�E(
K<���&�/
��1%5� 4 ��� <&�E(
K����<$?1���J57 100 �<$?1 4$"�E(
K���4K,3>03
�<$?1���J57 '#3��=
�<$?1���J57%&��$�!.1	��J&�
�0��� O  
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!
�
3%&� 16 >�
1>03�<$?1���J57 �E(
K��� 100 �<$?1 4$"�E(
K���4K,3>03�<$?1���J57�������	
�
 %&�+�,'
��)<&4$"�
�+K,�E(
K<���&�/
���J&�
�!=
3 O 

>�
1>03�<$?1
(P<.) 

 
��J&�
� 

��,
3 	
� 

�E(
K��� 
100 �<$?1
(���<) 

�E(
K���4K,3
>03�<$?1
���J57 

(<�./<$?1) 
'
��)<& 
�E(
K<���&�/
��1%5� 4 ��� 
�E(
K<���&�/
��1%5� 7 ���/L&1�=�%5� 4 ��� 
�E(
K<���&�/
�L&1�=�%5� 3 ��� 

0.54 
0.55 
0.55 
0.55 

1.00 
1.00 
1.16 
1.16 

14.33 
14.37 
14.31 
14.29 

131.58 
132.01 
131.35 
131.40 

F-test ns ns ns ns 
C.V. (%) 1.53 1.30   0.78 0.77 
ns D<=4!�!=
3%
3'��!� 
 
 3.4 0-�#	$�	��
�
�*�!	����'�+&$��,-. 
  3.4.1 0�	'��� 
    �<$?1���J57%&�D1, 
�%5���J&�
��$�!<&)�
<30�<
!��
�D<=4!�!=
3%
3'��!� 
(!
�
3%&� 17) .1	<&)�
<30�<
!��
�'#30	#=+��=�3 95.50-97.25 ��0�7�P?�!7 ��=��1&	���-)�
<30�
+�1�� (!
�
3%&� 17) �<$?1���J57�������	
� 
�%5���J&�
�%&���
"+�1��<&)�
<30�'#3D<=4!�!=
3%
3'��!� 
0	#=+��=�3 98.50-100.00 ��0�7�P?�!7 
  3.4.2 0�	'%�+�%
� 
    �<$?1���J57�������	
�%&��$�! 
�%5���J& <&1���&)�
<��?�+��
�30�+�1��+�$,�)&	3
���+��=�3 32.70-33.32 (!
�
3%&� 17) ��=��1&	���-)�
<	
�	014$")�
<	
��
�>03!,��$,
%&�D<=
4!�!=
3%
3'��!�0	#=+��=�3 10.92-12.02 4$" 13.94-16.20 �P�!��<!�!=0!,� !
<$(
1�- (!
�
3
%&� 17) �
��$�!1,�	�E(
K<���&�/
�L&1�=�%5� 3 ��� �<$?1���J57+K,!,��$,
%&�<&)�
<	
�	01 12.02 
�P�!��<!�!=0!,� '#3��=
�
��$�!0&� 3 ��J&�
� '=���
��$�!%&�+�,�E(
K<���&�/
��1%5� 7 ����=�<��-
L&1�=�%5� 4 ��� �<$?1���J57+K,!,��$,
%&�<&)�
<	
��
� 16.20 �P�!��<!�!=0!,�'#3��=
�
��$�!0&� 
3 ��J&�
� +�>6"%&��
��$�!.1	+�,'
��)<&�<$?1���J57+K,!,��$,
%&�<&)�
<	
�	014$")�
<	
��
�
!�(
'51 �<$?1���J57 
�%5���J&�
��$�!+K,!,��$,
%&�<&�E(
K���4K,3!=0!,�D<=4!�!=
3%
3'��!� 0	#=+��=�3 
62.50-67.50 <�$$����< (!
�
3%&� 18) �<$?1���J57 
��
��$�!%&�+�,�E(
K<���&�/
��1%5� 7 ���
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�=�<��-L&1�=�%5� 4 ��� +K,!,��$,
%&�<&�E(
K���4K,3!=0!,�'#3 67.50 <�$$����< �
��$�!%&�+�,'
��)<& 
4$"�E(
K<���&�/
�L&1�=�%5� 3 ��� �<$?1���J57+K,!,��$,
%&�<&�E(
K���4K,3!=0!,� 65.00 <�$$����<
�%=
��� .1	�
��$�!%&�+�,�E(
K<���&�/
��1%5� 4 ��� �<$?1���J57+K,!,��$,
%&�<&�E(
K���4K,3!=0!,�
!�(
'51 
 
!
�
3%&� 17 )�
<30�<
!��
� )�
<30�+�1�� 1���&)�
<��?�+��
�30� 4$")�
<	
�	01  
 )�
<	
��
�>03�<$?1���J57�������	
�%&�+�,'
��)<&4$"�
�+K,�E(
K<���&�/
���J&�
� 
 !=
3 O 

��J&�
� 
)�
<30�
<
!��
�  

(%) 

)�
<
30�+�
1��(%) 

1���&
)�
<��?�
+��
�0� 

 )�
<
	
�	01 
(P<./!,�) 

)�
<	
�
�
� 

(P<./!,�) 
'
��)<& 
�E(
K<���&�/
��1%5� 4 ��� 
�E(
K<���&�/
��1%5� 7 ���/L&1
�=�%5� 4 ��� 
�E(
K<���&�/
�L&1�=�%5� 3 ��� 

96.50 
97.25 
96.75 

 
95.50 

98.50 
99.50 
100.00 

 
100.00 

32.70 
33.24 
33.16 

 
33.32 

10.92 
11.05 
11.11 

 
12.02 

13.94 
15.97 
16.20 

 
15.86 

F-test ns ns ns ns ns 
C.V. (%) 1.32 1.58 1.25 7.57 9.02 
ns D<=4!�!=
3%
3'��!�  
 
   �<$?1���J57%&��$�! 
��
�+�,�E(
K<���&�/
��1%5� 7 ����=�<��-L&1�=�%5� 4 ��� <&
�
��(
DooS
!�(
'51 20.77 D<.)�P&�<�!7!=0�P�!��<!�!=0���< (!
�
3%&� 18) 4!�!=
3%
3'��!���-
�<$?1���J57%&��$�!1,�	�
�+�,�E(
K<���&�/
��1%5� 4 ��� %&�<&�
��(
DooS
'#3'51 30.16 D<.)�P&�<�!7
!=0�P�!��<!�!=0���< 4!=D<=4!�!=
3%
3'��!���-�<$?1���J57 
��
��$�!.1	+�,'
��)<& 4$"�E(
K<��
�&�/
�L&1�=�%5� 3 ��� %&�<&�
��(
DooS
 25.32 4$" 24.53 D<.)�P&�<�!7!=0�P�!��<!�!=0���< 
!
<$(
1�- �<$?1���J57 
��
��$�!%&�+�,�E(
K<���&�/
��1%5� 4 ��� <&)�
<30�K$�3�
���=30
	5'#3'51 
)�0 96.00 ��0�7�P?�!7 4!�!=
3%
3'��!���-�<$?1���J57%&��$�!.1	+�,'
��)<& 4$"�E(
K<���&�/
��1
%5� 7 ����=�<��-L&1�=�%5� 4 ��� %&�<&)�
<30�K$�3�
���=30
	5 90.00 4$" 94.00 ��0�7�P?�!7 
!
<$(
1�- (!
�
3%&� 18) '=���
��$�!�<$?1���J57%&�+�,�E(
K<���&�/
�L&1�=�%5� 3 ��� <&)�
<30�
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K$�3�
���=30
	5D<=4!�!=
3%
3'��!���-�<$?1���J57%&��$�!.1	��J&�
�0��� O %&�<&)�
<30�K$�3�
���=3
0
	5 94.50 ��0�7�P?�!7 4'13�=
�<$?1���J57%&��$�!.1	+�,�E(
K<���&�/
��1%5� 4 ��� '
<
����?-
����
D1,1&��=
 
��
��$�!��J&�
�0��� O 
 
!
�
3%&� 18 �E(
K���4K,3>03!,��$,
 �
��(
DooS
 4$")�
<30�K$�3�
���=30
	5>03�<$?1���J57
 �������	
�%&�+�,'
��)<&4$"�
�+K,�E(
K<���&�/
���J&�
�!=
3 O 

��J&�
� 
�E(
K���4K,3
>03!,��$,
  
(<�./!,�) 

�
��(
DooS
 
(D<.)�P&�<�!7/ 

P<./���<) 

)�
<30�
K$�3�
���=3
0
	5(%) 

'
��)<& 
�E(
K<���&�/
��1%5� 4 ��� 
�E(
K<���&�/
��1%5� 7 ���/L&1�=�%5� 4 ��� 
�E(
K<���&�/
�L&1�=�%5� 3 ��� 

65.00 
62.50 
67.50 
65.00 

  25.32 ab 
30.16 a 
20.77 b 
  24.53 ab 

90.00 b 
96.00 a 
94.00 b 
  94.50 ab 

F-test ns * * 
C.V. (%) 10.41 13.93       3.41 
ns D<=4!�!=
3%
3'��!� 
* 4!�!=
3%
3'��!�  
)=
�L$&�	+�)0$�<�7�1&	����%&�<&0����!=
3��� 4!�!=
3%
3'��!� 
��
����)�
"K74-- DMRT 
 
 3.4.3 ,	
-�	(	
3��'�+&  
   �<��0�(
�<$?1���J57%&��$�!+��"--���!�0��%�&	7  4$"�
�+�,'
��)<&<

���)�
"K7J
!50
K
�K$�� 4$"J
!50
K
��03 (!
�
3%&�  19) �-�=
 �<$?1���J57<&D�.!�� � 
o0'o0��' .�4!'�P&	< 4)$�P&	< 4<��&�P&	< 4$"P�$�o0�7+�$,�)&	3��� 1�3!
�
3%&� 19 4'13�=

�
��$�!�<$?1���J57 
��"--���!�0��%�&	7 �<$?1���J57�������	
�<&J
!50
K
�D1,+��"1�-�1&	���-
�
��$#�.1	+�,'
��)<& 
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!
�
3%&� 19 ���<
6J
!50
K
�+��<$?1���J57�������	
�%&�+�,'
��)<&4$"�
�+K,�E(
K<���&�/
�  
 ��J&�
�!=
3 O 

���<
6J
!50
K
�+��<$?1���J57 (<�./��.) ��J&�
� 
N P K Ca Mg S 

'
��)<& 
�E(
K<���&�/
��1%5� 4 ��� 
�E(
K<���&�/
��1%5� 7 ���/L&1�=�%5� 4 ��� 
�E(
K<���&�/
�L&1�=�%5� 3 ��� 

4.35 
4.42 
4.42 
4.45 

0.55 
0.54 
0.55 
0.56 

1.21 
1.42 
1.40 
1.34 

0.09 
0.09 
0.08 
0.09 

0.17 
0.17 
0.17 
0.17 

0.19 
0.16 
0.16 
0.16 

 
4. �	
)�*
� ��&����� �!	��	��'�+&$��,-.�*��
�!.���3(��:�	('��5��#	$�*,�
;	� B %���	
35�
�	
�0'�  
 4.1 �	
��
*>�
*�?
 
   �<$?1���J57 
��
��$�!+��"--���!�0��%�&	7.1	+�,�E(
K<���&�/
��1%5� 4 ��� �
�
�1%5� 7 ����=�<��-L&1�=�%5� 4 ��� �
�L&1�=�%5� 3 ��� 4$"�
�+�,'
��)<& %&��$#�����0�$�!���'1 
�-�=
 !,��������	
�%&��$#� 
��<$?1���J57%&��$�! 
�%5���J&�
�<&�
�� ��*�!�-.!D<=4!�!=
3%
3'��!� 
(!
�
3%&� 20 4$" 21) .1	<&!,��$,
�01!
	%&�0
	5 30 ���K$�3�$#�0	#=+��=�3 83.38-97.19 
��0�7�P?�!7 �
��$�!%&�+�,'
��)<& !,��������	
�<&!,��$,
�01!
	 97.19 ��0�7�P?�!7 '#3��=
�
��$�!
+��"--���!�0��%�&	7%�E3 3 ��J&�
� <&�
�%01	01>NE�),
3 50 ��0�7�P?�!7 �<��00
	5 20 ���K$�3�$#� 
00�10� 50 ��0�7�P?�!7�<��00
	5 40 ���K$�3�$#��%=
��� !,��������	
�%&��$�!%5���J&�
�����<��?-��&�	�
�$�$�!���'1)��E34��D1,�<��0!,��������	
�0
	5 47-48 ���K$�3�$#� (!
�
3%&� 21) �
��$�!%&�+�,�E(

K<���&�/
��1%5� 4 ��� 4$"�
�L&1�=�%5� 3 ��� '
<
����?-��&�	����'1D1,��?���=
�
��$�!0&� 2 
��J&�
� 1 ��� .1	�
��$�!%&�+�,'
��)<& <& (
���!,���?-��&�	����'1'#3 93.75 ��0�7�P?�!7 PN�3'#3��=

�
��$�!%&�+�,�E(
K<���&�/
�L&1�=�%5� 3 ��� %&�<&!,���?-��&�	����'1��&	3 77.81 ��0�7�P?�!7 4!=<&!,�
��?-��&�	����'10	#=+��"1�-�1&	���-�
��$�!%&�+�,�E(
K<���&�/
��1%5� 4 ��� 4$"�E(
K<���&�/
��1
%5� 7 ����=�<��-L&1�=�%5� 4 ��� %&�<&!,���?-��&�	����'1 84.69 4$" 82.19 ��0�7�P?�!7 !
<$(
1�- <&
!,�����.�)�K&�	�!
	%&����1 
����E0  Sclerotium sp.  
�%5���J&�
��$�!D<=4!�!=
3���0	#=+��=�3 9.41-
15.69 ��0�7�P?�!7 (!
�
3%&� 21) .1	�
��$�!%&�+�,'
��)<&!,��������	
�����.�)�K&�	�!
	!�(
'51 )�0 
9.41 ��0�7�P?�!7 4$"%5���J&�
��$�!!,��������	
�<&!,�!
	 
�4<$3%(
$
	�,0	<
�D<=4!�!=
3
���0	#=+��=�3 1.25-3.13 ��0�7�P?�!7  
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!
�
3%&� 20 !,��$,
�01!
	0
	5 30 ��� ���%01	01 50 ��0�7�P?�!7 4$"���00�10� 50 ��0�7�P?�!7
 >03�������	
� 
��<$?1���J57%&��$�! 
��
�+�,'
��)<&4$"�
�+K,�E(
K<���&�/
���J&
 !=
3 O 

4K$=3�<$?1���J574$"��J&�
��$�! 
!,��$,
�01!
	
0
	5 30 ��� (%) 

���%01	01
50% (���) 

���00�10�   
50% (���) 

'
��)<& 
�E(
K<���&�/
��1%5� 4 ��� 
�E(
K<���&�/
��1%5� 7 ���/L&1�=�%5� 4 ��� 
�E(
K<���&�/
�L&1�=�%5� 3 ��� 

97.19 
85.31 
83.38 
84.69 

20.00 
20.00 
20.00 
20.00 

40.00 
40.00 
40.00 
40.00 

F-test ns ns ns 
C.V. (%) 9.26 4.10 1.76 
ns D<=4!�!=
3%
3'��!� 
 

!
�
3%&� 21 0
	5��?-��&�	� !,���?-��&�	��$�$�! !,�����.�)�K&�	�!
	 4$"!,��#�4<$3%(
$
	!
	 
 >03�������	
� 
��<$?1���J57%&��$�! 
��
�+�,'
��)<&4$"�
�+K,�E(
K<���&�/
���J&
 !=
3 O 

4K$=3�<$?1���J574$"��J&�
��$�! 
0
	5��?-
��&�	� 
(���) 

!,���?-��&�	�
�$�$�! 
(%) 

!,�����.�)
�K&�	�!
	 

(%) 

!,��#�4<$3
%(
$
	!
	

(%) 
'
��)<& 
�E(
K<���&�/
��1%5� 4 ��� 
�E(
K<���&�/
��1%5� 7 ���/L&1�=�
%5� 4 ��� 
�E(
K<���&�/
�L&1�=�%5� 3 ��� 

48.00 
47.00 
48.00 

 
47.00 

  93.75 a 
84.69 ab 
82.19 ab 
 
  77.81 b 

9.41 
10.00 
15.69 

 
13.13 

1.25 
3.13 
3.13 
 

2.19 
F-test ns * ns ns 
C.V. (%) 1.40 10.35  61.92 75.04 
ns D<=4!�!=
3%
3'��!� 
* 4!�!=
3%
3'��!�  
)=
�L$&�	+�)0$�<�7�1&	����%&�<&0����!=
3��� 4!�!=
3%
3'��!� 
��
����)�
"K74-- DMRT 
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 4.2 )�)�*
� ��& 
   �<$?1���J57%&��$�!D1, 
��"--���!�0��%�&	7 4$"�
�+�,'
��)<& +K,�$�$�!���'1D<=
4!�!=
3%
3'��!� (!
�
3%&� 22) .1	����<��?-���'1D1,K$�3 
�10�-
� 10 ��� '
<
����?-��&�	����
'1D1,�
� 25 ��� <&�$�$�!�������1&%&� (
K�=
	D1, .1	�<$?1���J57%&��$�! 
��
�+�,�E(
K<���&�/
�
�1%5� 4 ��� +K,�$�$�!���1&'#3'51 1,606 ��.$���<!=0D�= '#3��=
�
��$�!%&�+�,�E(
K<���&�/
��1%5� 7 
����=�<��-L&1�=�%5� 4 ��� �
�L&1�=�%5� 3 ��� 4$"�
�+�,'
��)<& 192  321 4$" 28 ��.$���<!=0D�= 
!
<$(
1�- +�>6"�<$?1���J57%&��$�!.1	+�,'
��)<&<&�$�$�!����'&	'#3'51 129 ��.$���<!=0D�= 
(!
�
3%&� 22) D<=4!�!=
3%
3'��!���-�
��$�!%&�+�,�E(
K<���&�/
��1%5� 4 ��� %&��������	
�+K,�$
�$�!����'&	 122 ��.$���<!=0D�= 4!=4!�!=
3��-�
��$�!%&�+�,�E(
K<���&�/
��1%5� 7 ����=�<��-L&1
�=�%5� 4 ��� 4$"�
�L&1�=�%5� 3 ��� �������	
�+K,�$�$�!����'&	 90 4$" 87 ��.$���<!=0D�= 
!
<$(
1�- 4$"�<��0)�1������0�7�P?�!7�$�$�!����'&	 �-�=
 �
��$�!%&�+�,�E(
K<���&�/
��1%5� 7 
����=�<��-�
�L&1�=�%5� 4 ��� �������	
�+K,��0�7�P?�!7�$�$�!����'&	!�(
'51 6.18 4!�!=
3%
3'��!�
��-�
��$�!%&�+�,'
��)<& 4$"�
��$�!%&�+�,�E(
K<���&�/
��1%5� 4 ��� %&��������	
�+K,��0�7�P?�!7
�$�$�!����'&	 8.16 4$" 7.56 !
<$(
1�- '=���
��$�!%&�+�,�E(
K<���&�/
�L&1�=�%5� 3 ��� 
�������	
�+K,��0�7�P?�!7�$�$�!����'&	 6.96 D<=4!�!=
3%
3'��!���-%5���J&�
� 
 
!
�
3%&� 22 �$�$�!���1& �$�$�!����'&	 4$"��0�7�P?�!7�$�$�!����'&	 >03�������	
� 
��<$?1

���J57%&��$�! 
��
�+�,'
��)<&4$"�
�+K,�E(
K<���&�/
���J&!=
3 O 

4K$=3�<$?1���J574$"��J&�
��$�! 
�$�$�!���1& 
(��./D�=) 

�$�$�!���
�'&	 (��./D�=) 

��0�7�P?�!7�$�$�!
����'&	  

'
��)<& 
�E(
K<���&�/
��1%5� 4 ��� 
�E(
K<���&�/
��1%5� 7 ���/L&1�=�%5� 4 ��� 
�E(
K<���&�/
�L&1�=�%5� 3 ��� 

1,578 
1,606 
1,414 
1,285 

129 a 
122 a 
   90 b 
   87 b 

8.16 a 
7.56 a 
6.18 b 
  6.96 ab 

F-test ns * * 
C.V. (%) 16.29 10.47 10.47 
ns D<=4!�!=
3%
3'��!� 
* 4!�!=
3%
3'��!� 
)=
�L$&�	+�)0$�<�7�1&	����%&�<&0����!=
3��� 4!�!=
3%
3'��!� 
��
����)�
"K74-- DMRT  
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 4.3 0-�#	$���)�)�*
� ��&     
   �������	
�%&��$�!.1	+�,�E(
K<���&�/
��1%5� 4 ��� +K,���%&�<&)�
<	
�'#3'51 62.47 
�P�!��<!� 4!�!=
3%
3'��!���-�
��$�!%&�+�,�E(
K<���&�/
��1%5� 7 ����=�<��-L&1�=�%5� 4 ��� �
�
L&1�=�%5� 3 ��� 4$"�
�+�,'
��)<&%&�+K,���	
� 61.63  61.53 4$" 61.40 �P�!��<!� !
<$(
1�- 
���'1 
�%5���J&�
��$�!<&�E(
K���D<=4!�!=
3%
3'��!� (!
�
3%&� 23) ���'1%&�D1, 
��
��$�!%&�+�,�E(

K<���&�/
��1%5� 4 ��� <&�E(
K��� 22.09 ���<!=0��� PN�30	#=+��"1�-�1&	������-�
��$�!%&�+�,
'
��)<&%&��������	
�+K,�E(
K������ 22.05 ���< .1	%�E3 2 ��J&�
��������	
�+K,�E(
K������<
���=
 
�
��$�!%&�+�,�E(
K<���&�/
��1%5� 7 ����=�<��-L&1�=�%5� 4 ��� �
�L&1�=�%5� 3 ��� %&��������	
�+K,
�E(
K������ 21.31 4$" 21.35 ���< !
<$(
1�- �������	
� 
�%5���J&�
��$�!+K,���<&'&+��$5=<'&�>&	�
�-0�7 143C (Green group # 143C) 
 
!
�
3%&� 23 )�
<	
���� �E(
K���!=0��� 4$"'&���>03�������	
� 
��<$?1���J57%&��$�! 
��
�+�,  
 '
��)<&4$"�
�+K,�E(
K<���&�/
���J&!=
3 O 

4K$=3�<$?1���J574$"��J&�
��$�! 
)�
<	
���� 

(P<.) 
�E(
K���!=0���

(���<) 
'&��� 

'
��)<& 
�E(
K<���&�/
��1%5� 4 ��� 
�E(
K<���&�/
��1%5� 7 ���/L&1�=�%5� 4 ��� 
�E(
K<���&�/
�L&1�=�%5� 3 ��� 

61.40 b 
62.47 a 
61.63 b 
61.53 b 

22.05 a 
22.09 a 
21.31 b 
21.35 b 

143C 
143C 
143C 
143C 

F-test * * - 
C.V. (%) 0.69 1.28 - 
* 4!�!=
3%
3'��!� 
)=
�L$&�	+�)0$�<�7�1&	����%&�<&0����!=
3��� 4!�!=
3%
3'��!� 
��
����)�
"K74-- DMRT  
'&���+�,'<51�%&	-'&>03 The Royal Horticultural Society, London  
 
 4.4 �	
�0'�
�0�	�%��,	
-�	(	
3�� � 
   �(
���'1 
��
��$�!.1	+�,'
��)<&���)�
"K7'
��)<&�$5=< carbamate D<=�-'
�
!�),
3 4$"���'1%&��$�!+��"--���!�0��%�&	7%�E3 3 ��J&�
� 4$"�
�+�,'
��)<& <&D�.!�� � 
o0'o0��' .�4!'�P&	< 4)$�P&	< 4<��&�P&	< P�$�o0�7 4$"�',�+	+�$,�)&	3��� 1�3!
�
3%&� 24 4'13
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�=
�
��$�!���'1 
��"--���!�0��%�&	7 ����������	
�<&J
!50
K
�D1,+��"1�-�1&	���-�
��$#�.1	
+�,'
��)<& 
 
!
�
3%&� 24 ���<
6J
!50
K
�4$"�',�+	+����'1�������	
� 
��<$?1���J57%&��$�! 
��
�+�,  
 '
��)<&4$"�
�+K,�E(
K<���&�/
���J&!=
3 O 

���<
6J
!50
K
�4$"�',�+	+����'1 (<�./��.) 4K$=3�<$?1���J57 
4$"��J&�
��$�! N P K Ca Mg S Crude fiber 

'
��)<& 
�E(
K<���&�/
��1%5� 4 ���/)��E3 
�E(
K<���&�/
��1%5� 7 ���/L&1
�=�%5� 4 ���/)��E3 
�E(
K<���&�/
�L&1�=�%5� 3 ��� 

3.80 
3.76 
3.77 
 

3.69 

0.46 
0.44 
0.43 
 

0.42 

1.94 
2.00 
2.05 
 

1.93 

0.37 
0.36 
0.32 
 

0.37 

0.26 
0.24 
0.24 
 

0.24 

0.19 
0.20 
0.17 
 

0.17 

11.54 
11.45 
11.18 

 
11.24 

 
5. 
���-��	
)�*
�'�+&$��,-.%��� ��&�������� �!	������2�?&!35��	
�0'�%��
���
���

�*��
�!.  
 5.1 
���-��	
)�*
�'�+&$��,-.���35��	
�0'�%��
������

�*��
�!. 
   �
��$�!�<$?1���J57  
��
�+�,�E(
K<���&�/
� 	��P��< 4$"�E(
K<���&�/
��=�<��- 
	��P��< <&!,�%5��
��$�!��< 36,418 31,209 4$" 36,945 -
%!=0D�= !
<$(
1�- '#3��=
�
��$�!%&�
+�,'
��)<&%&�<&!,�%5���< 29,754 -
%!=0D�= (!
�
3%&� 25) �
��$�!/
	+!,�"--���!�0��%�&	7%5�
��J&�
� ����)=
4�33
�+��
��!�&	<1�� �
��$#�4$"1#4$����
 �
���?-��&�	� �
�+K,�E(
 4$"�#,
)�-)5<4�$3<
�%&�'51 )�0 21,803 19,461 21,936 4$" 19,761 -
%!=0D�= !
<$(
1�- �03$3<

����)=
��'15 D1,4�= )=
�<$?1���J57 '<5�D���(
 �1��!�#��� �E(
K<���&�/
� �5V	)0� 	��P��< �E(
<��
���E0��$�3 4$"���0�o
3  
��
��$�!/
	+!,�"--���!�0��%�&	7%�E3 3 ��J&�
���< 11,175 8,473 
4$" 11,550 -
%!=0D�= !
<$(
1�- '=���
��$�!%&�+�,'
��)<& <&)=
+�, =
	����)=
��'15>03�<$?1���J57 
�5V	)0� �5V	�)<& 4$"'
��)<&�S03����(
 �14<$3��< 6,774 -
%!=0D�= �
��$�!%&�+�,�E(
K<���&�/
� 
	��P��< �E(
K<���&�/
��=�<��-	��P��< 4$"�
�+�,'
��)<& <&)=
10��-&E	4$")=
�'&	.0�
'�3��$3%5�
��< 1,059 894 1,078 4$" 838 -
%!=0D�= !
<$(
1�- '=��!,�%5�)3%&�%5���J&�
��$�!����)=
'N�
K�0>03��3L&1�=�'
� 4$"D<,),
3��< 2,381 -
%!=0D�=  
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!
�
3%&� 25  !,�%5��
��$�!�<$?1���J57�������	
�%&��$�!.1	�
�+�,'
��)<&4$"�"--���!�0��%�&	7 
�
)
!,�%5��
��$�!�<$?1���J57�������	
�!=0D�= 

�
	�
� '
��)<& �E(
K<��
�&�/
� 

	��P��< �E(
K<���&�/
�/ 
	��P��< 

1. !,�%5����4�� 
    1.1 �
��!�&	<1�� 
    1.2 �
��$#�4$"1#4$����
 
    1.3 �
���?-��&�	� 
    1.4 �
�+K,�E(
 
    1.5 �#,)�-)5<4�$3  
    1.6 �<$?1���J57 
    1.7 �5V	)0� 
    1.8 �5V	�)<& 
    1.9 '
��S03����(
 �14<$3 
    1.10 	��P��< 
    1.11 �E(
K<���&�/
� 
    1.12 �E(
<�����E0��$�3       
    1.13 ���0�o
3           
    1.1410��-&E	 
    1.15 )=
�'&	.0�
'�3��$3%5�     
2.  !,�%5�)3%&� 
      2.1 ��3�=�'
� 
      2.2 D<,),
3                                                          

 
1,744 
5,866 
7,628 
2,843 
1,680 
   600 
3,000 
   588 
2,183 

- 
- 

   143 
   260 
   381 
   457 

 
     45 
2,336 

 
1,744 
7,908 
7,628 
2,843 
1,680 
   600 
3,000 

- 
4,095 

- 
3,077 
   143 
   260 
   547 
   512 

 
    45 
2,336 

 
1,744 
5,566 
7,628 
2,843 
1,680 
   600 
3,000 

- 
4,095 
   375 

- 
  143 
  260 
  453 
   441 

 
     45 
2,336 

 
1,744 
8,041 
7,628 
2,843 
1,680 
   600 
3,000 

- 
4,095 
   375 
3,077 
   143 
   260 

        566                    
        512 

 
    45 
2,336 

3.  !,�%5���<!=0D�= 29,754 36,418 31,209 36,945 
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 5.2 
���-��	
)�*
� ��&���35��	
�0'�%��
������

�*��
�!.   
   !,�%5��
��$�!���'1 (!
�
3%&� 26)  
��
�+�,�E(
K<���&�/
� 	��P��< �E(
K<��
�&�/
��=�<��-	��P��< <&!,�%5��
��$�!��< 34,122  27,458 4$" 34,648 -
%!=0D�= !
<$(
1�- 
'#3��=
�
��$�!%&�+�,'
��)<& %&�<&!,�%5��
��$�!���'1��< 25,182 -
%!=0D�= %5���J&�
��$�! ����
)=
4�33
�+��
��!�&	<1�� �
��$#�4$"1#4$����
 �
���?-��&�	� �
�+K,�E(
 4$"�#,)�-)5<4�$3
<
�%&�'51 )�0 18,322 14,555 18,455 4$" 15,308 -
%!=0D�= !
<$(
1�- �03$3<
����)=
��'15 D1,4�= 
)=
�<$?1���J57 '<5�D���(
 �1��!�#��� �E(
K<���&�/
� �5V	)0� �E(
<�����E0��$�3 4$"���0�o
3  
�
�
��$�!/
	+!,�"--���!�0��%�&	7%�E3 3 ��J&�
���< 12,418 9,673 4$" 12,793 -
%!=0D�= 
!
<$(
1�- '=���
��$�!%&�+�,'
��)<&����)=
��'15��<>03�<$?1���J57 �5V	)0� �5V	�)<& 4$"'
��)<&
�S03����(
 �14<$3 6,774 -
%!=0D�= �
��$�!%&�+�,�E(
K<���&�/
� 	��P��< �E(
K<���&�/
�
�=�<��-	��P��< 4$"�
�+�,'
��)<& <&)=
10��-&E	4$")=
�'&	.0�
'�3��$3%5���< 1,001 849 1,019 
4$" 719 -
%!=0D�= !
<$(
1�- '=��!,�%5�)3%&�%5���J&�
��$�!����)=
'N�K�0>03��3L&1�=�'
� 4$"
D<,),
3��< 2,381 -
%!=0D�=  
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!
�
3%&� 26  !,�%5��
��$�!���'1�������	
�%&��$�!.1	�
�+�,'
��)<&4$"�"--���!�0��%�&	7 
�
)
!,�%5��
��$�!���'1�������	
�!=0D�= �
	�
� 

'
��)<& �E(
K<��
�&�/
� 

	��P��< �E(
K<���&�/
�/
	��P��< 

1. !,�%5����4�� 
    1.1 �
��!�&	<1�� 
    1.2 �
��$#�4$"1#4$����
 
    1.3 �
���?-��&�	� 
    1.4 �
�+K,�E(
 
    1.5 �#,)�-)5<4�$3 
    1.6 �<$?1���J57 
    1.7 �5V	)0� 
    1.8 �5V	�)<& 
    1.9 '
��S03����(
 �14<$3 
    1.10 	��P��< 
    1.11 �E(
K<���&�/
� 
    1.12 �E(
<�����E0��$�3       
    1.13 ���0�o
3           
    1.14 10��-&E	 
    1.15 )=
�'&	.0�
'�3��$3%5�     
2.  !,�%5�)3%&� 
     2.1 ��3�=�'
� 
     2.2 D<,),
3                                                          

 
2,096 
5,754 
4,115 
1,663 
1,680 
   600 
3,000 
   588 
2,183 

- 
- 

   143 
    260 
    410 
    309 

  
    45 
2,336 

 
2,096 
8,768 
4,115 
1,663 
1,680 
1,800 
3,000 

- 
4,095 

- 
3,120 
   143 
   260 
   573 
   428 

 
    45 
2,336 

 
2,096 
5,001 
4,115 
1,663 
1,680 
1,800 
3,000 

- 
4,095 
   375 

  -  
   143 
   260 
   477 
   372 

     
    45 
2,336 

 
2,096 
8,901 
4,115 
1,663 
1,680 
1,800 
3,000 

- 
4095 
   375 

    3,120 
     142 
     260 
     591 
     428 

 
       45 
   2,336 

3. !,�%5���<!=0D�= 25,182 34,122 27,458 34,648 
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 5.3 
���-��	
)�*
�'�+&$��,-.���35��	
�0'�%���	
�$*�'�:�	('��5��#	$�*,��	

;	� B  
   !,�%5��
��$�!�<$?1���J57 (!
�
3%&� 27)  
��
�+�,�E(
K<���&�/
��1%5� 4 ��� �
�
�1%5� 7 ����=�<��-L&1�=�%5� 4 ��� 4$"�
�L&1�=�%5� 3 ��� <&!,�%5��$�!��< 34,990 35,119 4$" 
32,402 -
%!=0D�= !
<$(
1�- '#3��=
�
��$�!%&�+�,'
��)<& %&�<&!,�%5���< 25,546 -
%!=0D�= %5�
��J&�
��$�! ����)=
4�33
�+��
��!�&	<1�� �
��$#�4$"1#4$����
 �
���?-��&�	� �
�+K,�E(
 4$" 
�#,)�-)5<4�$3<
�%&�'51 )�0 19,973 21,999 21,904 4$" 17,065 -
%!=0D�= !
<$(
1�- 
�03$3<
����)=
��'15 D1,4�= )=
�<$?1���J57 �E(
K<���&�/
� �5V	)0� '<5�D���(
 �1��!�#��� �E(
<��
���E0��$�3 4$"���0�o
3  
��
��$�!/
	+!,�"--���!�0��%�&	7%�E3 3 ��J&�
���< 11,620 9,737 
4$" 7,211 -
%!=0D�= !
<$(
1�- '=���
��$�!.1	+�,'
��)<& ����)=
��'15��<>03�<$?1���J57 �5V	)0� 
�5V	�)<& 4$"'
��)<&�S03����(
 �14<$3 5,388 -
%!=0D�= �
��$�!%&�+�,�E(
K<���&�/
��1%5� 4 ��� 
�
��1%5� 7 ����=�<��-L&1�=�%5� 4 ��� 4$"�
�L&1�=�%5� 3 ��� 4$"�
�+�,'
��)<& <&)=
10��-&E	
4$")=
�'&	.0�
'�3��$3%5���< 1,016  1,002  906 4$" 712 -
%!=0D�= !
<$(
1�- '=��!,�%5�
)3%&�%5���J&�
��$�!����)=
'N�K�0>03��3L&1�=�'
� 4$"D<,),
3��< 2,381 -
%!=0D�=  
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!
�
3%&� 27  !,�%5��
��$�!�<$?1���J57�������	
�%&�+�,'
��)<&4$"�
�����<�E(
K<���&�/
���J&!=
3 O   
�
)
!,�%5��
��$�!�<$?1���J57�������	
�!=0D�=  

 
�
	�
� 

'
��)<& �E(
K<��
�&�/
��1%5� 
4 ��� 

�E(
K<���&�/
�
�1%5� 7 ���/L&1
�=�%5� 4 ��� 

�E(
K<��
�&�/
�L&1
�=�%5� 3 ��� 

1. !,�%5����4�� 
    1.1 �
��!�&	<1�� 
    1.2 �
��$#�4$"1#4$����
 
    1.3 �
���?-��&�	� 
    1.4 �
�+K,�E(
 
    1.5 �#,)�-)5<4�$3 
    1.6 �<$?1���J57 
    1.7 �5V	)0� 
    1.8 �5V	�)<& 
    1.9 '
��S03����(
 �14<$3 
    1.10 �E(
K<���&�/
� 
    1.11 �E(
<�����E0��$�3       
    1.12 ���0�o
3           
    1.13 10��-&E	 
    1.14 )=
�'&	.0�
'�3��$3%5�    
2.  !,�%5�)3%&� 
     2.1 ��3�=�'
� 
     2.2 D<,),
3                                                          

 
1,552 
5,105 
6,234 
2,494 
1,680 
   600 
3,000 
   588 
   797 

 - 
   143 
   260 
   336 
   376 

 
     45 
2,336 

 
1,552 
8,013 
6,234 
2,494 
1,680 
1,800 
3,000 

- 
1,726 
4,691 
   143 
   260 
   523 
   493 

 
    45 
2,336 

 
1,552 
10,039 
6,234 
2,494 
1,680 
1,800 
3,000 

- 
 1,726 
2,808 
   143 
   260 
   452 
   550 

 
    45 
2,336 

 
1,552 
9,944 
6,234 
2,494 
1,680 
1,800 
3,000 

- 
1,726 
    282 
   143 
   260 
   359 
    547 

 
    45 
2,336 

3. !,�%5���<!=0D�= 25,546 34,990 35,119 32,402 
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 5.4 
���-��	
)�*
� ��&���35��	
�0'�%���	
�$*�'�:�	('��5��#	$�*,��	

;	� B   
   !,�%5��
��$�!���'1 (!
�
3%&� 28)  
��
�+�,�E(
K<���&�/
��1%5� 4 ��� �
��1%5� 
7 ����=�<��-L&1�=�%5� 4 ��� 4$"�
�L&1�=�%5� 3 ��� <&!,�%5��$�!��< 30,437  31,429 4$" 28,486 -
%
!=0D�= !
<$(
1�- '#3��=
�
��$�!%&�+�,'
��)<& %&�<&!,�%5��
��$�!��< 20,611 -
%!=0D�= %5���J&�
�
�$�! ����)=
4�33
�+��
��!�&	<1�� �
��$#�4$"1#4$����
 �
���?-��&�	� �
�+K,�E(
 4$"�#,)�-)5<
4�$3<
�%&�'51 )�0 16,554 18,581 18,419 4$" 13,762 -
%!=0D�= !
<$(
1�- �03$3<
����)=

��'15 D1,4�= )=
�<$?1���J57 �E(
K<���&�/
� �5V	)0� '<5�D���(
 �14<$3 �E(
<�����E0��$�3 4$"���0�
o
3  
��
��$�!/
	+!,�"--���!�0��%�&	7%�E3 3 ��J&�
���< 10,622 9,553 4$" 6,890 -
%!=0
D�= !
<$(
1�- '=���
��$�!.1	+�,'
��)<& ����)=
��'15��<>03�<$?1���J57 �5V	)0� �5V	�)<& 4$"'
��)<&
�S03����(
 �14<$3 5,390 -
%!=0D�= �
��$�!%&�+�,�E(
K<���&�/
��1%5� 4 ��� �
��1%5� 7 ���
�=�<��-L&1�=�%5� 4 ��� 4$"�
�L&1�=�%5� 3 ��� 4$"�
�+�,'
��)<& <&)=
10��-&E	4$")=
�'&	.0�
'
�3��$3%5���< 880 914 796 4$" 707 -
%!=0D�= !
<$(
1�- '=��!,�%5�)3%&�%5���J&�
��$�!���� 
)=
'N�K�0>03��3L&1�=�'
� 4$"D<,),
3��< 2,381 -
%!=0D�=  
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!
�
3%&� 28  !,�%5��
��$�!���'1�������	
� 
��<$?1���J57%&�+�,'
��)<&4$"�
�����<�E(
K<���&�/
���J&!=
3 O   
�
)
!,�%5��
��$�!���'1�������	
�!=0D�= 

�
	�
� 
'
��)<& �E(
K<��

�&�/
��1
%5� 4 ��� 

�E(
K<���&�/
�
�1%5� 7 ���/L&1
�=�%5� 4 ��� 

�E(
K<��
�&�/
�L&1
�=�%5� 3 ��� 

1. !,�%5����4�� 
    1.1 �
��!�&	<1�� 
    1.2 �
��$#�4$"1#4$����
 
    1.3 �
���?-��&�	� 
    1.4 �
�+K,�E(
 
    1.5 �#,)�-)5<4�$3 
    1.6 �<$?1���J57 
    1.7 �5V	)0� 
    1.8 �5V	�)<& 
    1.9 '
��S03����(
 �14<$3 
    1.10 �E(
K<���&�/
� 
    1.11 �E(
<�����E0��$�3       
    1.12 ���0�o
3           
    1.13 10��-&E	 
    1.14 )=
�'&	.0�
'�3��$3%5�    
2.  !,�%5�)3%&� 
     2.1 ��3�=�'
� 
     2.2 D<,),
3   

 
1,552 
5,146 
3,951 
1,433 
1,680 
    600 
3,000 
   588 
   784 

- 
   158 
    260 
    424 
    283 

 
     45 
2,336 

 
1,552 
7,938 
3,951 
1,433 
1,680 
1,800 
3,000 

- 
1,365 
4,039 
   158 
   260 
   484 
   396 

 
    45 
2,336 

 
1,552 
9,964 
3,951 
1,433 
1,680 
1,800 
3,000 

- 
1,365 
2,970 
   158 
   260 
   461 
   453 

 
    45 
2,336 

 
1,552 
9,803 
3,951 
1,433 
1,680 
1,800 
3,000 

- 
1,365 
   308 
   158 
   260 
   347 
   449 

 
    45 
2,336 

3.  !,�%5���<!=0D�= 20,611 30,437 31,429 28,486 
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����� 4   
 

�*�	
�. 
 

�	
)�*
�'�+&$��,-.����� �!	�3�
������

�*��
�!. 
 
 �
��$�!�<$?1���J57�������	
����J57)�1-<.0. .1	+�,�E(
K<���&�/
�0�!�
 1:1,000 
�1%5� 7 ��� 	�3+K,�$�$�!�<$?1���J57 40 ��.$���<!=0D�= (!
�
3%&� 3) !�(
��=
�
��$�!%&�+�,'
��)<&   
50 ��.$���<!=0D�= ����03 
��
��$�!���+��"--���!�0��%�&	7)��E34��D1,�$�$�!!�(
��=
�
��$�!%&�+�,
'
��)<& (Lampkin and Padel, 1994; Nadia and Caroline, 2002; Lammerts van Bueren   et 
al, 2003; OECD, 2003) .1	<&��  �	�
��$�!K$
	��  �	�>,
<
��&�	�>,03 D1,4�= ���J57%&��K<
"'< 
(Lammerts van Bueren et al., 2003) )�
<051<'<-#�67>031�� (>��* �!�, 2534; Martini et al., 
2004) ���<
6J
!50
K
�%&����D1,��- �
�)�-)5<4$"�
� �1�
�.�)4<$3 (Lampkin and Padel, 
1994; OECD, 2003)  
��
����)�
"K71��+�4�$3�$�!�<$?1���J57�������	
�)��E3�&E �-�=
 1��<&���<
6
0��%�&	��!�5��&	3 1.48 ��0�7�P?�!7 (!
�
3/
)����%&� 3)  �1����1��%&�<&)�
<051<'<-#�67!�(
 
(0/��1&, 2542) ��"�0-��-���<
6J
!50
K
�%&�!,��������	
�D1,��- 
��
��1�E(
K<���&�/
�%5� 7 
��� �=
 "D<=��&	3�0'(
K��-�
��(
D��$&E	3!,�4$"��� ����03 
�!,03�0+K,���4K,3����'&�E(
!
$ K��0
��"<
6 20 ���K$�310�-
� N3��?-��&�	��<$?1���J57D1, (>��* �!� 4$"��$$/, 2530) %(
+K,!,�
�������	
�!,03+�,���<
6J
!50
K
�+��=�3�&E<
� '�3��!D1, 
�!,��������	
�+��=�300�10�4$"!�1
���4'130
�
�+-�K$�03K$�3 
��1�E(
K<���&�/
�+����%&� 5 PN�3+��
�%1$03�1�E(
K<���&�/
�
%5� 7 ��� 4$"!,��������	
�-
3!,�!�1���D<=�N3 10 ���!=0!,�  
��
�)(
��6�E(
K<���&�/
�%&�+�,
�1!,��������	
�!$01n1#�$#� <&J
!5D�.!�� � o0'o0��' 4$".�4!'�P&	< 192.00 19.55 4$" 
640.44 ���<!=0D�= (!
�
3/
)����%&� 9) �<��0)(
��6���&	-�%&	-��-��J&�
��$�!%&�+�,'
��)<& .1	
+'=�5V	�)<&%&�<&J
!5D�.!�� � o0'o0��' 4$".�4!'�P&	< !$01n1#�$#����1$" 9 ��.$���<!=0D�= PN�3
��&	3�0!=0)�
<!,03�
�+��
�� ��*�!�-.!4$"�
�+K,�$�$�! .1	��!�!,��������	
�!,03�
� J
!5
D�.!�� � 1.6-3.2 ��.$���<!=0D�= o0'o0��' 4$".�4!'�P&	< 8.0-9.6 ��.$���<!=0D�= ('�<n%J�p, 
2538)  
 4!=�<��0�$�!�<$?1���J57.1	�
�����<���<
6�
�+K,�E(
K<���&�/
�1,�	�
��1%5� 4 ��� 
�
��1%5� 7 ����=�<��-L&1�=�%5� 4 ��� 4$"�
�L&1�=�%5� 3 ��� �-�=
 '
<
������<�$�$�!�<$?1���J57
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D1,D<=4!�!=
3��� (!
�
3%&� 15) .1	�
��1%5� 4 ��� +K,�$�$�!�<$?1���J57 146 ��.$���<!=0D�=  
PN�3!�(
��=
�
��$�!%&�+�,'
��)<&��&	3 14 ��.$���<!=0D�= %�E3�&E0
 ����03 
�!,��������	
�D1,��-J
!5
0
K
�<
�>NE� 
��
��1�E(
K<���&�/
�%5� 4 ��� 
��1�<%&��1%5� 7 ��� (�=�< �!� 4$")6", 2550) 
4$"��&	3�0!=0�
�� ��*�!�-.!4$"�
�+K,�$�$�! PN�3'�3��!D1, 
�!,��������	
�D<=4'130
�
�
>
1J
!50
K
� $(
!,�<&)�
<4>?34�3'<-#�67 4$"<& (
������!=0!,�<
���=
�
�+�,�E(
K<���&�/
�
�1%5� 7 ���  
��
�)(
��6�E(
K<���&�/
�%&�+�,�1!,��������	
�!$01n1#�$#�1,�	��J&�
�����<�E(

K<���&�/
�.1	�
��1%5� 4 ��� <&J
!5D�.!�� � o0'o0��' 4$".�4!'�P&	< 266.76  33.35 4$" 
964.00 ���<!=0D�= (!
�
3/
)����%&� 1) PN�3'#3��=
�
�+K,�E(
K<���&�/
�%5� 7 ��� ��"�0-��-+�
�E(
K<���&�/
�%&��1+K,��-!,��������	
� <&J
!50
K
��03 D1,4�= 4)$�P&	< 4<��&�P&	< 4$"P�$�o0�7 
 
��
�)(
��6 1111.50 166.72 4$" 144.49 ���<!=0D�= (!
�
3/
)����%&� 9) �0� 
��&E	�3<&
J
!50
K
��'��< )
�7.-D��1�% .��!&� �0�DP<7 ��10��%�&	7 4$"�0�7.<���� (�03���!��)<&, 
2545) PN�3������  �	'=3�'��<%&�'(
)�*!=0�}�����	
%
3�&��)<&%&��(
D�'#=�
�4-=3�P$$7 �
�'�,
3�P$$7
'�-���J57 %&� "'=3�$+K,!,����4>?34�3 ���1�
���{�
>0310�4$"�<$?1+�%&�'51 (��<��{�
%&�1��, 
2545) �E(
K<���&�/
�	�3<&���E0 5$��%�&	7 %&�<&)56'<-�!��=�		=0	'
�0��%�&	7+�1��+K,�$1�$=0	J
!5
0
K
�+�1��%&�������".	��7!=0���D1,<
�>NE� (�03���!��)<&, 2545)  
��
����)�
"K71��+�4�$3
�$�!�<$?1���J57�������	
�)��E3�&E%�E3�=0��$#�4$"K$�3�$#� 1��<&)�
<������1����1=
30	#=+��=�3 5.84-
5.94 4$" 5.70-6.38 !
<$(
1�- (!
�
3/
)����%&� 5 4$" 6) PN�3)�
<������1����1=
3%&�
�K<
"'<'(
K��-�
�� ��*�!�-.!>03�������	
� %&��=�	+K,��"-���
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o0'o0��' (<�./��.)  49.74 42.87 57.93 39.09 
.�4!'�P&	< (<�./��.) 54.75 50.90 58.66 58.66 
4)$�P&	< (<�./��.) 497.00  503.01 537.08  545.09 
4<��&�P&	< (<�./��.)   30.39 30.39 30.39 32.82 
P�$�o0�7 (<�./��.)     6.36   4.78 11.86 18.59 
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!
�
3/
)����%&� 6 )56'<-�!�>031��K$�3��?-��&�	��<$?1���J57�������	
�%&�+�,'
��)<&4$" 
  �
�+�,�E(
K<���&�/
���J&!=
3 O 

���<
6J
!50
K
�+�1���=0��$#�  
)56'<-�!�>031�� '
��)<& �E(
K<��

�&�/
��1
%5� 4 ��� 

�E(
K<���&�/
�
�1%5� 7 ���/L&1
�=�%5� 4 ��� 

�E(
K<��
�&�/
�L&1
�=�%5� 3 ��� 

)�
<������1����1=
3 (pH) 5.77 6.19 6.33 6.38 
�
��(
DooS
+�1�� (Ec) 
 (<�$$�P&�<�/P<.) 

57.70 41.80 57.00 54.30 

0��%�&	��!�5 (%) 1.66 1.46 1.94 1.71 
D�.!�� � (%) 0.07 0.07 0.08 0.08 
o0'o0��' (<�./��.) 92.39 80.21 123.12 90.00 
.�4!'�P&	< (<�./��.) 78.21 73.21 117.31 93.90 
4)$�P&	< (<�./��.) 627.26 613.23 797.60 715.43 
4<��&�P&	< (<�./��.) 42.54 44.97 66.84 54.69 
P�$�o0�7 (<�./��.) 7.56 6.10 7.15 6.01 
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!
�
3/
)����%&� 7 )56'<-�!�>031���=0��$#��������	
�����0�$�!���'1%&�+�,'
��)<&4$" 
  �
�+�,�E(
K<���&�/
���J&!=
3 O   

���<
6J
!50
K
�+�1���=0��$#�  
)56'<-�!�>031�� '
��)<& �E(
K<��

�&�/
��1
%5� 4 ��� 

�E(
K<���&�/
�
�1%5� 7 ���/L&1
�=�%5� 4 ��� 

�E(
K<��
�&�/
�L&1
�=�%5� 3 ��� 

)�
<������1����1=
3 (pH) 6.24 6.22 6.15 6.21 
�
��(
DooS
+�1�� (Ec) 
(<�$$�P&�<�/P<.) 

70.20 74.10 74.50 71.40 

0��%�&	��!�5 (%) 1.14 1.19 1.22 1.30 
D�.!�� � (%) 0.06 0.06 0.06 0.06 
o0'o0��' (<�./��.) 103.19  83.87 89.48 106.33 
.�4!'�P&	< (<�./��.) 86.03 93.85 93.85 101.67 
4)$�P&	< (<�./��.) 659.32 659.32 681.36 699.40 
4<��&�P&	< (<�./��.) 40.11 40.11 38.89 38.89 
P�$�o0�7 (<�./��.) 5.50 4.48 5.50 5.82 
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!
�
3/
)����%&� 8 )56'<-�!�>031��K$�3��?-��&�	����'1>03�������	
�%&�+�,'
��)<&4$" 
  �
�+�,�E(
K<���&�/
���J&!=
3 O  

���<
6J
!50
K
�+�1���=0��$#� 

)56'<-�!�>031�� 
'
��)<& �E(
K<��

�&�/
��1
%5� 4 ��� 

�E(
K<���&�/
�
�1%5� 7 ���/L&1
�=�%5� 4 ��� 

�E(
K<��
�&�/
�L&1
�=�%5� 3 ��� 

)�
<������1����1=
3 (pH) 6.70 7.26 6.15 6.21 
�
��(
DooS
+�1�� (Ec) 
(<�$$�P&�<�/P<.) 

104.50 107.90 74.50 71.40 

0��%�&	��!�5 (%) 2.02 1.85 1.22 1.30 
D�.!�� � (%) 0.10 0.11 0.06 0.06 
o0'o0��' (<�./��.) 170.55 175.21 89.48 106.33 
.�4!'�P&	< (<�./��.) 136.86 132.95 93.85 101.67 
4)$�P&	< (<�./��.) 973.95 1,174.35 681.36 699.40 
4<��&�P&	< (<�./��.) 75.35 92.36 38.89 38.89 
P�$�o0�7 (<�./��.) 17.91 18.80 5.50 5.82 

 
!
�
3/
)����%&� 9 ���<
6J
!50
K
� 
��
�)(
��6%&�+�,�$�!�<$?1���J574$"���'1 
  �������	
�%&��$#�.1	+�,'
��)<&4$"�"--���!�0��%�&	7 

���<
6J
!50
K
�+��5V	�)<&4$"+��E(
K<���&�/
� ��J&�
� 
D�.!� 
� � 

(���</D�=) 

o0' 
o0��' 
(���</D�=) 

.�4!' 
�P&	< 

(���</D�=) 

4)$ 
�P&	< 

(���</D�=) 

4<��& 
�P&	< 

(���</D�=) 

P�$�o0�7 
(���</D�=) 

'
��)<& (�5V	�)<&) 9,000.00 9,000.00 9,000.00 - - - 
�E(
K<���&�/
��1
%5�4��� 

266.76 33.35 967.00 1111.50 166.72 1444.49 

�E(
K<���&�/
��1
%5�7��� 

192.00 19.20 620.80 665.60 96.00 83.20 
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